Svenska Bridgeférbundet
Brons 6, Festivalen 2014-07-27

Partavling, 88 bord, 176 par. Antal brickor: 24. Medel: 2088.0.

Plac Par Poang % Namn

1 770 2822.1 67.58 Jan Arne Heimdal - Karl Asplund

2 780 2818.0 67.48 Mats Evaldsson - Goéran Lind

3 204 2813.8 67.38 Pierre Carbonnier - Hakan Tjarnemo

4 205 2701.4 64.69 Hakan Lovsén - Carl-Eric Weiland

5 410 2684.8 64.29 Torbjorn Forsén - Dag Johansson

6 501 2638.0 63.17 Lars-Gunnar Bjorn - Kjell Gustavsson
7 207 2620.7 62.76 Mogens Boysen - Marius Lyhne-Knudsen
8 876 2616.1 62.65 Sonny Karlsson - Kjell Holmgren

9 279 2612.9 62.57 Henning Kristensen - Roland Andersson
10 878 2576.9 61.71 Per-Arne Svensson - Benny Olsson

11 870 2571.4 61.58 Jimmy Herrdin - Lennart Johansson

12 105 2550.3 61.07 Ulrika Forsberg - Jonas Hjelte

13 106 2547.0 60.99 Niels Krojgaard - Preben Taasti

14 303 2524.6 60.46 Claes Bodin - Ragnar Johansson

15 372 2514.8 60.22 Ake Rustad - Hakan Jonasson

16 304 2509.3 60.09 Arnold lvansson - Elisabeth Stenberg
17 709 2503.7 59.95 Mads Krojgaard - L.P. Damgaard

18 509 2478.3 59.35 Anders Olsson - Bjérn Ohlsson

19 670 2457.7 58.85 Marit Skree - Kim Kvernebo

20 206 2457.7 58.85 Torbjorn Sandback - Hakan Nordstrom
21 402 2456.6 58.83 Tom Sandquist - Monica Sandquist

22 603 2444.3 58.53 Gullbritt Trydefeldt - Ulla von Schlanbusch
23 371 2430.7 58.21 Goran Eriksson - Stefan Fransén

24 178 2430.4 58.20 Rolf Carlsson - Christer Swenson

25 110 2430.0 58.19 Sigurd Frydenlund - Tom Stenbakk

26 572 2427.7 58.13 Borje Wester - Bo Alsenmyr

27 779 2421.4 57.98 Mikael Bjorin - Goran Westin

28 671 2377.5 56.93 Patrik Elofsson - Fredrik Axelsson

29 510 2364.7 56.63 Hans-Ake Andersson - Mattias Furenb&ck
30 375 2361.8 56.56 Inga Wasteby - Lennart Wiklander

31 379 2356.4 56.43 Lisbeth Engdahl - Claes Engdahl

32 408 2341.7 56.07 Sven Andersson - Bo Ytterstrom

33 602 2337.8 55.98 Niklas Karlsson - Lisbeth Karlsson

34 401 2331.4 55.83 Jan-Erik Grindborg - Karin Grindborg
35 774 2325.3 55.68 UIf Sarnkvist - Ola Sarnkvist

36 171 2321.4 55.59 Britta Akerblom-Nilsson - Lars Héglund
37 507 2320.8 55.57 Arnold Digre - Alf Markussen

38 273 2319.7 55.55 Lennart Johansson - UIf Halvorsen

39 803 2316.5 55.47 Eva Akesson - Leif Akesson

40 606 2310.3 55.32 Ingalill Svensson - Lena Andersson

41 103 2306.3 55.23 Thomas Persson - Anders Rosenlund
42 503 2304.0 55.17 Patrik Janerdd - Mats Winges

43 777 2300.8 55.10 Ann-Cathrine Hagstrom-Blomgvist - Rolf Blomquist
44 409 2296.4 54.99 Stefan Scharmer - Ahto Uisk

45 504 2293.8 54.93 Liv Andersson - Birgit Johnson

46 374 2285.7 54.73 Bo Petersson - Ann Waldna

47 307 2279.7 54.59 Lars Wallin - Anders Ihalainen

48 471 2276.7 54.52 Annette Hansson - Berit Samuelsson
49 478 2276.7 54.52 Christian Bergek - UIf Andersson

50 880 2274.9 54.48 Rose-Marie Crossner - Annika Forsberg
51 802 2274.3 54.46 Ingegerd Lundgren - Gunilla lvarsson
52 677 2259.6 54.11 Kenneth Osterberg - Eva Andersson
53 570 2244.7 53.75 Axel Hallgvist - Viola Hallgvist

54 107 2243.4 53.72 Anders Dellien - Ella Olsson

55 174 2242.1 53.69 Carl-Ake Frisk - Agne Gustavsson

56 673 2241.8 53.68 Jan Clementsson - Christer Ekberg

57 674 2239.1 53.62 Lars-Erik Rudstrom - Peter Flodgvist
58 575 2238.1 53.59 Goran Oldin - Per-Olov Lidgren

59 871 2237.0 53.57 Marten Howe - Niclas Ornerdal

60 679 2236.4 53.55 Helge Jonsson - Olle Wingardh

61 801 2229.9 53.40 Gerd Wrige - Kjell Lindstrom

62 678 22259 53.30 Inga-Lill Nordin - Gunbritt Dalmanner
63 506 2214.3 53.02 Eva Lena Glimne - Greger Sundgren
64 403 2208.6 52.89 Annelie Kaberg - Roger Norrbrink

65 101 2207.8 52.87 Katarina Freitag - Erling Johansson

66 707 2207.6 52.86 Karin Wannebo - Kjell Persson

67 711 22059 52.82 Anita Skaldebd - Anne Bergset

68 406 2189.4 52.43 Sofia Sundstrom - My Bodin

69 508 2185.1 52.33 Folke Lagerldf - Torbjorn Karlsson

70 874 2184.7 52.31 Kinga Gawlik-Wachalska - Michal Wachalski
71 311 2177.3 52.14 Annette Everum - Linus Olsson

72 810 2175.3 52.09 UIf Silhammar - Irene Silhammar

73 578 2173.0 52.04 Ingegard Nilsson - Kent Nordenberg
74 872 2171.7 52.00 Birgitta Olsson - Kerstin Levin

75 277 2167.1 51.90 Hans Alexandersson - Marie Nylin

76 179 2157.4 51.66 Hans-Olof Hallén - Martin Johnsson

77 474 21457 51.38 Hans-Olof Holmgvist - Tomas Lindgvist
78 574 2143.1 51.32 Dorothy Tagt - Markus Sandberg

79 604 2142.3 51.30 Annika Steisj0 - Kerstin Hallgren

80 176 2137.4 51.18 Flemming Rasmussen - Wiola Rasmussen
81 579 2135.3 51.13 Anders Eriksson - Evert Ohman

82 180 2126.6 50.92 Stella Hathorn - Lilly Sturesson

83 275 2126.4 50.92 Odd Stokka - Lena Jensen

84 879 2123.3 50.85 Kjell S6derlund - Monica Séderlund

85 477 2121.4 50.80 Heiti Krafft - Erland Fransson

MID

42812 80064
9023 14248
5538 5534
1564 6600
88512 88495
867 88159
+722  +718
1126 3368
19445 1766
9720 592
81411 20178
89334 88994
+634 +723
11300 7487
13652 40089
7721 30846
+617 +693
7280 5648

70 98
33275 33276
12048 638
8493 42497
15635 1859
+611 +619
7827 5132
39287 85771
28614 93699
12110 34227
10912 17072
10154 3095
6682 13000
80196 47322
46264 46265
9415 80001
27449 3369
+627 +628
13145 3452
14234 2833
92783 11061
7539 532
54499 84300
10478 2721
24878 2801
4831 84178
11140 22772
11191 4892
15741 22904
92649 48309
14138 25019
6961 8926
4700 576
80009 80010
7117 20412
7648 12723
55627 94047
10725 14778
10369 33336
24774 13085
29573 23806
88026 88016
41414 43432
81091 28664
92626 87654
84856 10643
21494 80004
+733 +732
53097 36834
5283 51466
46224 46225
37344 30150
9317 18531
11872 9631
6958 3500
14762 81439
9896 13345
15960 11362
7188 34572
2849 6059
10707 4565
21260 3460
9063 2308
18637 6676
11466 79676
2926 2918

Klubb

Alvsby BK - LudvikaBygdens BK
BK S:t Erik

LUCK

Filbyter Bridge

Kisa BS

Hovmantorps BK - Vaxjébridgen
Danmark

Kalmarsunds BK - Bollnds BK
Alingsas BS - Vargarda BS
Lidkopings BK - Skdvde BA
Askers. BK Singelton

Sudrets BK - Kisa BS

Danmark

Karlstads BK - Kungshamns BK
Malungs BK - Falu BK
Stenstorps BK - Skévde BA
Danmark - Denmark

BK Lavec - Sélvesborgs BK
Norge

Malungs BK - LudvikaBygdens BK
Laholms BK

IFK Karlskrona

Bollnés BK

BK Zonen - Skévde BA

Norge

Orebridgen - Kumla BS

Rotebro BS - BK S:t Erik
Skoévde BA

Norrkdpingsbridgen

BK Stjarnskotten

RD Trivselbridge

Nykopings BS

BK S:t Erik

BK S:t Erik

Akers BK

Héassleholms BK - Levene BK
Norge

Ljungskile BK - Vanersborgs BS
BK Zonen

Laholms BK - ABB BK

Ystads BS

BK Bjorken - Lindesbergs BS
Smedstadens BK
Uppsalabridgen

Uddevalla BF

Uppsalabridgen - BK S:t Erik
Lerums BK

Bridgeklubben Karlskrona
Filbyter Bridge - Norrkdpingsbridgen
Orebridgen

Séavsjo BK

Hassleholms BK - BK Tre Sang, Helsingborg
Luled BK

Munkedals BS - BK Lyx
Mariestads BS

Malmd BK - Pri-Bri 1936

BK S:t Erik

Axbergs BK - Storsjobygdens BK
LUCK - Norrképingsbridgen
Boras BA

Askims BK - ABB BK

Falu BK

Laholms BK

Motala Bridgeallians
Bridgekamraterna Nybro - Karlskoga BK
BK Lyx

Norge

Sundsvallsbridgen - Karlstads BK
Alvsby BK

Klippans BK

Malmé BK - LUCK

BK S:t Erik

Laholms BK

Savsjo BK

BK S:t Erik

Malmo BK - Landskrona BK
Malmd BK

Insjons BK - Borlange BK
Enkopings BS

Pri-Bri 1936

Sollefted BK

BK S:t Erik - Sthims-Polisens BS
BK Bjorken

Akersberga BS

Rimbo BK
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137
138
139
140
141
142
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145
146
147
148
149
150
151
152
153
154
155
156
157
158
159
160
161
162
163
164
165
166
167
168
169
170
171
172
173
174
175
176

373
771
875
302
380
211
672
702
609
370
177
411
808
502
172
305
772
611
170
306
811
705
202
270
470
407
576
778
605
271
274
775
805
704
280
710
680
676
405
472
210
278
776
473
201
203
475
877
104
376
173
580
276
608
108
479
301
601
111
703
209
404
773
807
480
610
309
708
378
577
505
102
308
806
571
607
675
701
476
272
310
804
377
873
109
809
511
175
706
208
573

2118.0
2117.7
2117.2
2113.2
2112.6
2101.7
21014
2100.0
2097.8
2092.4
2090.3
2089.6
2089.2
2063.6
2060.8
2058.7
2057.3
20514
2044.3
2040.1
2040.0
2030.6
2025.2
2020.3
2015.6
2015.0
1991.6
1983.5
1972.4
1965.6
1959.9
1934.9
1923.7
1921.9
1920.1
1918.4
1914.7
1904.3
1901.4
1899.4
1892.2
1889.0
1880.6
1877.7
1876.6
1873.9
1865.3
1862.1
1843.2
1842.3
1831.3
1830.2
1826.6
1823.3
1822.9
1810.3
1806.0
1804.1
1799.6
1782.6
1782.6
1763.1
1758.3
1757.2
1754.3
1740.9
1729.3
1728.9
1711.4
1684.2
1665.7
1665.6
1661.2
1655.9
1640.3
1634.6
1618.2
1616.6
1615.0
1614.7
1610.9
1600.1
1599.7
1561.4
1549.6
1542.4
1536.7
1528.2
1499.9
1402.6
1362.9

50.72
50.71
50.70
50.60
50.59
50.33
50.32
50.29
50.23
50.10
50.06
50.04
50.03
49.42
49.35
49.30
49.27
49.12
48.95
48.85
48.85
48.62
48.50
48.38
48.27
48.25
47.69
47.50
47.23
47.07
46.93
46.33
46.07
46.02
45.98
45.94
45.85
45.60
45.53
45.48
45.31
45.24
45.03
44.96
44.94
44.87
44.67
44.59
44.14
44.12
43.85
43.83
43.74
43.66
43.65
43.35
43.25
43.20
43.09
42.69
42.69
42.22
42.11
42.08
42.01
41.69
41.41
41.40
40.98
40.33
39.89
39.89
39.78
39.65
39.28
39.14
38.75
38.71
38.67
38.67
38.58
38.32
38.31
37.39
37.11
36.93
36.80
36.59
35.92
33.59
32.64

Susanne Hammar - Ingegard Andersson
Szymon Szulc - Séren Olofsson

Bengt Hilling - Reinhold Karlsson

Kurt Karlsson - Sune Gustafsson

Ulla Norman - Karin Hellsten

Allan Nouri Otman Farha - Tuve Gustavsson
Maria Gron - Nils-Bertil Gustafsson
Morten Bune - Séren Bune

Sjur Nedrebo - Hege Sundland

Gittan Erikson - Brita Daun

Erik Franzén - Rolf Forsberg

Olga Frampol - Larisa Feldman
Inga-Maj Askfelt - Don Leif Janlow

Lotta Engvall - Mikael Engvall

Ronny Hellberg - Arne Karlsson

Maria Boberg - Séren Sjostrom

Magnus Mattsson - Ingrid Roth

Kurth Henriksson - Ingrid Petersen
Tommy Hagstrom - Magnus Carlén

Erik Tornvall - Agneta Aicardi-Holmstrém
Ernst van Groningen - Margareta Mattsson
Bjorn Ekblom - Pedro Svensson

Bertil Strand - Kristina Mossborg

Peter Rundquist - Leif Davidsson
Annika Ivarsson - Mia Eriksson

Eva Johansson - Gdran Johansson
Sofie Westlin - UIf Westlin

Kristian Karlsson - Katarina Akeborg
Sten-Ake Eskilsson - Les Halladay
Gunilla Karlsson - Urban Mentzer

Péar Unander - Sara Asplund Sivelind
Birgitta Isacson - Marielle Dietrich
Kerstin Olausson - Einar Jonsson

Péar Netsman - Eva Netsman

Barbro Vaerlien - Ulf Vaerlien

Kent Johansson - Ann-Christin Johansson
Laszlo Szarka - Helena Szarka

Lena Lundqyvist - Gun-Britt Rindstal
Kenneth Fredriksson - Ann-Helen Engstrom
Kjell Nordin - Kati Nordin

Jerry EkI6f - Sara Strdmberg

Leif Erlandsson - Erik Spangberg

Ann Sundgren - Rune Johansson
Hakan Elensky - Berit Jonsson

Ole Arland - Laila Arland

Bengt Ostman - Randi R6snas

Gunllla Bostrém - Hans Larsson

Sophie Bune - Amalie Koch-Palmund
Kerstin Hastad - Nils Karlsson

Jerry Mahler - Kerstin Wallin

Kjell Hakansson - Birgitta Samuelsson
Lena Garhamn - Anders Ostberg

Bengt Sérensen - Vega Slottner
Kenneth Hallgvist - Dan Tjalldén

Gunilla Ostervall - Lena Bjon-Aaltonen
Jan-Olof Siby - Markku Harald

Connie Friberg - Hans Friberg

Carina Ljung - Kajsa Frojdh

Ludvig Lettermark - Meia Zahr

Lena Becksén - Anna Greta Back

Erika Nordstréom - Moa Svensson
Ingegerd Peterson - Britt Bjork

Thomas Ljungberg - Mikael Parkeman
Gunilla Tingstrém - Goran Pettersson
Bjarne Stub-Hansen - Kerstin Ulvenholm
Karl-Henrik Linnhag - Leif Ahlberg
Krister Lundkvist - Karin Bergman-Lundgvist
Martin Udd - Bo Mérelius

Eira Ostlund - Lennart Rundqyvist

Inga Skoog - Karin Englund

Peter Lindstrand - Irja Hallgvist

Agneta Moberg - Katarina Landstedt
Elisabeth Olsson - Sten Olsson

Ragnar Ouchterlony - Olov Andersson
UIf Ohman - Klas Bulow

Jonny Nilsson - Claes Sandblom

Johan Englund - Inger Gerle

Sara Blom - Hans Blom

Leif Dahl - Hans Olsson

Ursula Nielsen - Hakan Kihlgren

Kerstin Schlyter-Sunnerholm - Lars-Ake Larsmyr

Gunilla Wallin - Judit Derzsi-Jalgard

Mats Bende - Christina Bende

Stefan Nilsson - Bo Karlsson

Sissi Kristoffersson - Susanne Andersson
Bo Larsson - Anna-Stina Wennberg

Carl Blekemo - Freja Roboz-Ekman
Martha Carlsson - Seth Carlsson

Gunilla Johansson - Lennart Carlsson
Elisbeth Karlén - Peter Karlén

Kent Andersson - Ann Nordin

1253
55090
10849

1579
40394
47179
28267

+688

+727
10273

76

+685
15376
49663
84485
40588
35172

6173

9775
52901
13582
32366

3919
42063

6588
33465
86222
23186
40412
88955
12980
87270
47056
81529
93920

3908

5708
25982

9842
13960
87220
45510
39331
42650

+638
78901
88492

+689
11222
12554

3733
37261
86943

8329

9131
26821
47153
83553
53074
31657
84925
14153

9613
90374
14284
35533
45686

848
83525
31326
26390
33198
81501
52356
25671
49241
53131
55530
48652
44613
43852
48390
89167
31084
24336
35666
53044
41106
41833
47021
35531

2813
41182
9333
88664
31607
44820
28265
+691
+728
1691
13471
+686
58033
49662
8570
14066
14504
12906
89038
50831
13535
45878
93183
6948
17486
17317
3230
91939
33189
11111
16660
32683
2732
81530
93919
46161
86308
7974
38837
14434
39029
140
93812
42639
+639
78903
85218
+731
28689
46448
15036
43355
86942
9859
2602
31327
47152
93700
55134
43848
42507
14866
14338
90380
14808
16742
45685
4663
16837
8616
2223
80314
81503
46612
26281
49232
39792
55531
26832
44614
14232
52692
93060
39941
27547
35665
37948
46439
47182
47022
35530

Stigtomta BK

Bracke BK

Orust BK

Skovde BA - Tanums BK

Luled BK

BK S:t Erik - Arla BK

ABB BK - Askims BK

Denmark

Norge

Boras BA

Malungs BK - Karlskoga BK
Russia

Munka Ljungby BS - BK S:t Erik
Fagersta BS

Veddige BS - Séavsjo BK
Storsjobygdens BK - Backe BK
Storsjobygdens BK

Sydjamten - Asperd-Brannd BK
Uppsalabridgen

Vastra Bjare BK
Uppsalabridgen

BK Opalen

BK Ruter - Amals BS

Ryds BK - Savsjo BK
Uppsalabridgen

Askims BK

BK S:t Erik - Bollnas BK

Alnd BK - Sundsvallsbridgen
Eksjo BK

BK Albrekts - Arvika BS
Malungs BK - LudvikaBygdens BK
Tjorns BK

BK Everfresh - BK Falkenberg
Bollnds BK

BK ALERT

Uddevalla BF

Lomma BK .
Valdemarsviks BK - Overums BK
Storsjébygdens BK

Hedemora BS

Skovde BA - Sundsvallsbridgen
Orebridgen

Munka Ljungby BS - Tidaholms BK
Nora BK

Norge - NORGE

Svegs BK

Orebridgen

Denmark - Danmark
Danderyds BS - Orebridgen
Sollefted BK

Ystads BS - Kopings BS
Skovde BA

BK Opalen

Storsjoébygdens BK - Sollefted BK
Akersberga BS

Boras BA

Skara BS

Skovde BA - Carlsborgs BK
BK S:t Erik

Sundsvallsbridgen

Bollnds BK

BK Albrekts .

Karlskoga BK - Orebridgen

BK S:t Erik

BK S:t Erik

BK S:t Erik - Visby BS
Orebridgen

Oskarshamns BK

Orebridgen

BK S:t Erik - Lidingd BK

Hede-Vemdalen BK - Storsjobygdens BK

BK Nordost
Vinslovs BK
Filbyter Bridge
Skutskars BK

BK Opalen

BK S:t Erik
Askims BK

Bords BA

BK S:t Erik
Vastra Bjare BK
BK Bridgehuset
Tidaholms BK
Orebridgen
Bridgeklubben Karlskrona
Bohus Nations BS
BK S:t Erik
Sollefted BK

BK S:t Erik
Carlsborgs BK
BK S:t Erik
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1 «ED1053
Nord v D32
Ingen +92
D93
& K7 & Kn982
v EK8 v 1095
+ EKD105 +¢ 764
&#K84 &EKn5
464
v Kn764
+ Kn83
10762
Par Kontr Ut
680 601 44 O -2 46
775 708 4v V-2 &3
374 309 5¢ V-1 *2
401 403 6NV -1 LY
472 411 6¢ V-1 s A
710 773 44 V-1 &9
105 176 2¢ V +3 *2
404 479 3¢ V +2 s A
476 407 3NO = v6
573 508 3N O = v6
273 208 3NV +1 a5
280 201 3N O +1 v4
477 406 3N O +1 46
504 577 3NV +1 &9
671 610 3NV +1 v2
673 608 3NV +1 a5
674 607 3NV +1 a3
676 605 3NV +1 a3
679 602 3N O +1 v4
705 778 3NV +1 a3
777 706 3NV +1 a3
870 871 3NV +1 +9
876 807 3NV +1 +9
877 806 3NV +1 *2
102 179 3NV +2 a3
103 178 3NV +2 T
104 177 3NV +2 v3
109 172 3NV +2 a5
111 170 3NV +2 a3
171 110 3NV +2 vJ
173 108 3N O +2 LY
174 107 3N O +2 46
175 106 3N O +2 a4
180 101 3NV +2 v3
203 278 3NV +2 a5
204 277 3NV +2 46
209 272 3NV +2 a3
211 270 3NV +2 v2
271 210 3NV +2 oT
274 207 3N O +2 46
276 205 3N O +2 46
301 303 3NV +2 a5
304 379 3N O +2 a3
305 378 3NV +2 a5
310 373 3NV +2 a3
370 371 3N O +2 a5
372 311 3NV +2 a5
377 306 3NV +2 a3
380 302 3NV +2 a5
405 478 3NV +2 a3
410 473 3N O +2 a7
470 471 3N O +2 a2
474 409 3NV +2 a5
475 408 3N O +2 46
480 402 3NV +2 a3
503 578 3N O +2 rY!
509 572 3NV +2 a3
511 570 3NV +2 v2
574 507 3N O +2 46
575 506 3N O +2 46
576 505 3NV +2 a3
579 502 3NV +2 a3
580 501 3NV +2 a3
603 678 3NV +2 a5
604 677 3N O +2 46
609 672 3NV +2 +9
611 670 3N O +2 46
675 606 3NV +2 a3
701 703 3N O +2 +3
770 771 3NV +2 s A
774 709 3NV +2 a3
776 707 3NV +2 a3
780 702 3NV +2 a3
804 879 3NV +2 a5
805 878 3NV +2 a3
810 873 3NV +2 a5
874 809 3NV +2 a3
275 206 3NV +3 a3
376 307 3NV +3 a5

Basta kontrakt

5NT V =-460
& ¢ v & NT
N3 2432
S32432
O 9 109 9 10
V 10119 1011
Res Poang
100 173.0 1.0
100 173.0 1.0
50 1669 7.1
50 1669 7.1
50 1669 7.1
50 1669 7.1
-150 160.8 13.2
-150 160.8 13.2
-400 156.8 17.2
-400 156.8 17.2
-430 140.6 334
-430 140.6 334
-430 140.6 334
-430 140.6 334
-430 140.6 334
-430 140.6 334
-430 140.6 334
-430 140.6 334
-430 140.6 33.
-430 140.6 334
-430 140.6 334
-430 140.6 334
-430 140.6 334
-430 140.6 334
-460 72.8 101.2
-460 72.8 101.2
-460 72.8 101.2
-460 72.8 101.2
-460 72.8 101.2
-460 72.8 101.2
-460 72.8 101.2
-460 72.8 101.2
-460 72.8 101.2
-460 72.8 101.2
-460 72.8 101.2
-460 72.8 101.2
-460 72.8 101.2
-460 72.8 101.2
-460 72.8 101.2
-460 72.8 101.2
-460 72.8 101.2
-460 72.8 101.2
-460 72.8 101.2
-460 72.8 101.2
-460 72.8 101.2
-460 72.8 101.2
-460 72.8 101.2
-460 72.8 101.2
-460 72.8 101.2
-460 72.8 101.2
-460 72.8 101.2
-460 72.8 101.2
-460 72.8 101.2
-460 72.8 101.2
-460 72.8 101.2
-460 72.8 101.2
-460 72.8 101.2
-460 72.8 101.2
-460 72.8 101.2
-460 72.8 101.2
-460 72.8 101.2
-460 72.8 101.2
-460 72.8 101.2
-460 72.8 101.2
-460 72.8 101.2
-460 72.8 101.2
-460 72.8 101.2
-460 72.8 101.2
-460 72.8 101.2
-460 72.8 101.2
-460 72.8 101.2
-460 72.8 101.2
-460 72.8 101.2
-460 72.8 101.2
-460 72.8 101.2
-460 72.8 101.2
-460 72.8 101.2
-490 11.1 162.9
-490 11.1 162.9

2 a2
Ost v EK965
NS + KDKn9
&E84
4 KD1095 #E763
vKnl0 v D432
+43 ¢+ E10
&#KD32 #1075
& Kn84
v 87
¢ 87652
#Kn96
Par Kontr
111 170 3vyDN+1 ¢A
211 270 4¢DS= &K
472 411 4¢DN= @&A
279 202 44DV -2 ¢K
603 678 44DV -2 YA
671 610 44DV -2 ¢K
405 478 4¢ N +1 ¢ A
777 706 4¢ S+1 vlJ
874 809 4¢ S+1 & K
203 278 4¢ N= s A
480 402 4¢ N= a3
609 672 44 S= & K
611 670 4¢ N= s A
770 771 4¢ N= a3
875 808 44 N= s A
880 802 4¢ N= s A
375 308 2v N= s A
103 178 44DV -1 K
174 107 44DV -1 ¢K
180 101 4e V-2 ¢+ K
374 309 4v V-2 vA
673 608 44DV -1 ¢K
674 607 44DV -1 oK
679 602 44 V-2 +K
273 208 1v N= ¢ A
105 176 4e V-1 ¢+ K
171 110 44 V-1 a3
310 373 44 V-1 vA
377 306 34 V-1 vA
474 409 4e V-1 vK
504 577 44 V-1 vA
573 508 34 V-1 ¢+ K
576 505 34 V-1 vA
810 873 44 V-1 +K
877 806 34 V-1 vA
104 177 34 V= vA
109 172 34 V= vA
209 272 34 V= vA
271 210 34 V= vA
280 201 34 V= vA
304 379 34 O= ¢+ K
370 371 34 V= +K
372 311 34 V= +Q
380 302 34 V= vA
401 403 34 V= vA
410 473 34 V= vK
476 407 34 V= ¢+ K
509 572 34 V= vA
574 507 2 V +1 +K
575 506 34 V= vA
579 502 34 V= +K
580 501 3 V= +K
604 677 34 V= vK
676 605 34 V= vA
701 703 34 V= vA
774 709 34 V= ¢+ K
775 708 34 V= vA
776 707 34 V= vK
801 803 34 V= vA
804 879 34 V= vA
872 811 24 V +1 vK
301 303 34 V+1 ¢+ K
305 378 34 V +1 vA
780 702 34 V +1 +K
704 779 5¢DS-1 &K
772 711 4v N-2 s A
876 807 5¢ N-2 T
175 106 5¢ N -3 s A
274 207 3N N-3 a3
404 479 4v N -3 s A
680 601 4v N-3 s A
710 773 4v N-3 s A
204 277 4vyDN-2 #3
470 471 5¢DN-2 &6
705 778 4v N-5 s A
173 108 34DV= ¢K
503 578 34DV = ¢vK
275 206 4vyDN-3 &A
376 307 4vyDN-3 &A

Basta kontrakt

4¢ S =130
& ¢ v & NT
N5 107 5 6
S5 107 56
08 3587
V83587
Res Poang
930 1740 0.0
710 171.0 3.0
710 171.0 3.0
300 166.0 8.0
300 166.0 8.0
300 166.0 8.0
150 160.0 14.0
150 160.0 14.0
150 160.0 14.0
130 150.0 24.0
130 150.0 24.0
130 150.0 24.0
130 150.0 24.0
130 150.0 24.0
130 150.0 24.0
130 150.0 24.0
110 142.0 32.0
100 134.0 40.0
100 134.0 40.0
100 134.0 40.0
100 134.0 40.0
100 134.0 40.0
100 134.0 40.0
100 134.0 40.0
80 126.0 48.0
50 115.0 59.0
50 115.0 59.0
50 115.0 59.0
50 115.0 59.0
50 115.0 59.0
50 115.0 59.0
50 115.0 59.0
50 115.0 59.0
50 115.0 59.0
50 115.0 59.0
-140  79.0 95.0
-140 79.0 95.0
-140 79.0 95.0
-140  79.0 95.0
-140 79.0 95.0
-140 79.0 95.0
-140  79.0 95.0
-140 79.0 95.0
-140 79.0 95.0
-140  79.0 95.0
-140 79.0 95.0
-140 79.0 95.0
-140  79.0 95.0
-140 79.0 95.0
-140 79.0 95.0
-140  79.0 95.0
-140 79.0 95.0
-140 79.0 95.0
-140  79.0 95.0
-140 79.0 95.0
-140 79.0 95.0
-140 79.0 95.0
-140 79.0 95.0
-140 79.0 95.0
-140  79.0 95.0
-140 79.0 95.0
-170 50.0 124.0
-170  50.0 124.0
-170 50.0 124.0
-200 44.0 130.0
-200  44.0 130.0
-200 44.0 130.0
-300 36.0 138.0
-300 36.0 138.0
-300 36.0 138.0
-300 36.0 138.0
-300 36.0 138.0
-500 28.0 146.0
-500 28.0 146.0
-500 28.0 146.0
-530 23.0 151.0
-530 23.0 151.0
-800 13.0 161.0
-800 13.0 161.0

3 « EDKN1043
Syd v Kn7
ov + 109
K108
4 K965 «87
vD85 vE10942
47652 ¢ EDKn
&73 &#Kn65
a2
v K63
¢+ K843
&#ED942
Par Kontr Ut
510 573 4e N +2 LY:]
172 111 44 N+1 LY:]
270 271 44 N+1 48
275 208 4e N +1 *A
373 308 44 N +1 *A
376 305 44 N+1 46
474 407 44 N +1 LY:]
501 503 4e N +1 +Q
570 571 44 N +1 vA
575 508 4e& N +1 vA
709 772 44 N+1 a3
771 710 44 N+1 ¢ A
780 701 4e N+1 *A
880 801 4e N+1 vA
371 310 3NS+1 v5
674 609 3N S +1 vQ
105 177 44 N= *A
110 173 44 N= a2
174 109 44 N= vA
303 378 44 N= a7
304 377 44 N= &5
374 307 44 N= vA
375 306 44 N= &6
379 302 44 N= 48
409 472 44 N = vA
480 401 44 N= LY:]
505 578 44 N= ¢ A
574 509 44 N= vA
672 611 44 N= vA
773 708 44 N= 48
779 702 44 N= a2
803 878 44 N= v3
879 802 44 N= a5
604 679 3NS= v5
670 671 3NS= v5
871 810 3NS= *2
876 805 3NS= +5
106 176 24 N +3 &6
205 278 34 N +2 a7
309 372 24 N+3 &6
380 301 24 N+3 +Q
403 478 34 N +2 +Q
471 410 24 N +3 &5
504 579 34 N +2 *A
572 511 24 N+3 a7
605 678 24 N +3 *A
704 777 34 N +2 *A
774 707 24 N+3 48
875 806 34 N +2 vA
101 107 34 N+1 vA
103 179 34 N +1 *A
104 178 34 N +1 LY:]
204 279 24 N +2 vA
277 206 34 N +1 a7
404 477 34 N +1 vA
411 470 34 N +1 &3
475 406 24 N +2 vA
476 405 24 N +2 vA
479 402 24 N +2 vA
576 507 24 N +2 &5
677 606 24 N +2 &5
711 770 34 N+1 *A
775 706 34 N +1 LX:]
804 877 34 N+1 &6
809 872 24 N +2 LY:]
274 209 34 N= v3
311 370 24 N+1 v4
580 502 34 N= LY:]
610 673 34 N= rY:]
675 608 34 N= vA
676 607 24 N +1 v4
175 108 24 N = &5
201 203 2v O-1 a2
170 171 44 N-1 vA
272 211 3NS-1 v5
276 207 44 N-1 LY:]
280 202 44 N-1 vA
473 408 3N S-1 vQ
601 603 3N S-1 v5
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Basta kontrakt

44 S =420
& ¢ v & NT
N 118 7 108
S 118 7 108
0256 33
V256 33
Res Poang
480 1740 0.0
450 160.0 14.0
450 160.0 14.0
450 160.0 14.0
450 160.0 14.0
450 160.0 14.0
450 160.0 14.0
450 160.0 14.0
450 160.0 14.0
450 160.0 14.0
450 160.0 14.0
450 160.0 14.0
450 160.0 14.0
450 160.0 14.0
430 145.0 29.0
430 145.0 29.0
420 126.0 48.0
420 126.0 48.0
420 126.0 48.0
420 126.0 48.0
420 126.0 48.0
420 126.0 48.0
420 126.0 48.0
420 126.0 48.0
420 126.0 48.0
420 126.0 48.0
420 126.0 48.0
420 126.0 48.0
420 126.0 48.0
420 126.0 48.0
420 126.0 48.0
420 126.0 48.0
420 126.0 48.0
400 105.0 69.0
400 105.0 69.0
400 105.0 69.0
400 105.0 69.0
200 89.0 85.0
200 89.0 85.0
200 89.0 85.0
200 89.0 85.0
200 89.0 85.0
200 89.0 85.0
200 89.0 85.0
200 89.0 85.0
200 89.0 85.0
200 89.0 85.0
200 89.0 85.0
200 89.0 85.0
170 61.0 113.0
170 61.0 113.0
170 61.0 113.0
170 61.0 113.0
170 61.0 113.0
170 61.0 113.0
170 61.0 113.0
170 61.0 113.0
170 61.0 113.0
170 61.0 113.0
170 61.0 113.0
170 61.0 113.0
170 61.0 113.0
170 61.0 113.0
170 61.0 113.0
170 61.0 113.0
140 39.0 135.0
140 39.0 135.0
140 39.0 135.0
140 39.0 135.0
140 39.0 135.0
140 39.0 135.0
110 32.0 142.0
100 30.0 144.0
-50 19.0 155.0
-50 19.0 155.0
-50 19.0 155.0
-50 19.0 155.0
-50 19.0 155.0
-50 19.0 155.0




571 510 3NV +3 T -490 11.1 162.9|475 408 4vDN-3 ¢A -800 13.0 161.0 (703 778 3N S-1 vQ -50 19.0 155.0
704 779 3NV +3 43 -490 11.1 162.9 (477 406 4vyDN-3 ¢A -800 13.0 161.0|776 705 3NS-1 vQ -50 19.0 155.0
772 711 3NV +3 45 -490 111 162.9 |571 510 4vyDN-3 4A -800 13.0 161.0 (873 808 44 N-1 ¢ A -50 19.0 155.0
801 803 3NV +3 45 -490 111 162.9 (675 606 4vyDN-3 ¢A -800 13.0 161.0(874 807 3NS-1 vQ -50 19.0 155.0
872 811 3NV +3 45 -490 11.1 162.9 (805 878 4vyDN-3 4A -800 13.0 161.0(180 102 3N S -2 vQ -100 4.0 170.0
880 802 3NV +3 43 -490 11.1 1629|870 871 4vDN-3 ¢A -800 13.0 161.0|210 273 3N S-2 v8 -100 4.0 170.0
375 308 24aDN-4 #A  -800 2.0 172.0 ({102 179 4vDN-4 «A -1100 2.0 172.0 [577 506 3N S -2 v5 -100 4.0 170.0
875 808 44DS-5 ¢A -1100 0.0 174.0 (276 205 4vDN-4 &A -1100 2.0 172.0 (680 602 44 N -2 ¢A -100 4.0 170.0
279 202 3NO+3  #2 -490>a 104.4 104.4|511 570 4vyDN-4 «A -1100 2.0 172.0|811 870 3NS-2 vQ -100 4.0 170.0
4 ~E84 Basta kontrakt 5 4 Kn943 Basta kontrakt 6 & E8543 Basta kontrakt
Vast v KKn753 5¢ N =650 Nord v EK1083 54 N =650 Ost vE10 34 SD-1-100
Alla ¢+ ED9 NS +83 ov + E108
*K7 & ¢ v & NT »82 & ¢ v & NT *Kn64 & ¢ v & NT
4963 4« KKn102 N7 8 119 10 «1076 D85 N9 9 10119 &D 4« K9 N4 46 86
v 106 v92 S 7 8 109 10 v74 v Kn962 S 9 9 10119 v 932 v K865 S44586
41083 ¢ KKn42 06 5242 ¢+ D962 ¢ Knl04 04 4324 ¢+ KD732 4 Kn65 099757
#D9865 #Kn32 V65232 #D1073 #KKn5 V 44324 #EK32 410975 V99757
4 D75 & EK2 4 Kn10762
v ED84 v D5 vDKn74
4765 + EK75 +94
*E104 *E964 »D8
Par Kontr ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
110 173 3NN+2 v9 660 173.0 1.0(307 301 3NS+3 46 690 173.0 1.0|107 176 54DV-2 «A 500 173.0 1.0
403 478 3NN+2 &2 660 173.0 10372373 3NS+3 47 690 1730 1.0(605601 5¢DV-2 A 500 173.0 1.0
101 107 4v N+1 v2 650 143.0 31.0|205 201 3NS+2 T 660 167.0 7.0|872 873 2N O -2 «J 200 170.0 4.0
103 179 4v N+1 v2 650 143.0 31.0(275 210 3NS+2 T 660 167.0 7.0|379 308 34 N+1 ¢5 170 168.0 6.0
106 176 4v N+1 v6 650 143.0 31.0(671 672 3NS+2 T 660 167.0 7.0(105 178 24 N+1 T 140 161.0 13.0
170 171 4v N+1 &2 650 143.0 31.0|779 708 3NS+2 T 660 167.0 7.0|180 103 34 S= #A 140 161.0 13.0
174 109 4v N+1 &2 650 143.0 31.0|678 607 4v S+1 46 650 162.0 12.0|580 503 24 N+1 6 140 161.0 13.0
180 102 4v N+1 #3 650 143.0 31.0(101 109 3N S +1 ¢2 630 1540 20.0|611 674 34 N= T 140 161.0 13.0
204 279 5v N= v2 650 143.0 31.0|102 108 3NS+1 46 630 154.0 20.0(878 809 34 N= v6 140 161.0 13.0
205 278 4v N+1 T 650 143.0 31.0|280 203 3NS+1 #3 630 154.0 20.0(880 804 24 N+1 ¢J 140 161.0 13.0
274 209 4v N+1 43 650 1430 31.0|706 702 3NS+1 47 630 154.0 20.0(104 179 24 N= T 110 124.0 50.0
303 378 4v N+1 v2 650 143.0 31.0|778 709 3NS+1 46 630 154.0 20.0(171 172 24 N= ¢6 110 1240 50.0
304 377 4v N+1 ¢4 650 143.0 31.0|872 873 3NS+1 47 630 154.0 20.0(205 201 24 N= ¢6 110 1240 50.0
371 310 4v N+1 %2 650 143.0 31.0|880 804 3N S +1 v4 630 154.0 20.0|211 274 24 N= ¢5 110 1240 50.0
374 307 4v N+1 v9 650 143.0 31.0|376 311 4y N= ¢J 620 142.0 32.0|276 209 24 N= ¢J 110 1240 50.0
375 306 4v N+1 v2 650 143.0 31.0|379 308 44 N= v2 620 142.0 32.0|277 208 24 N= ¢J 110 1240 50.0
604 679 4v N+1 ¢4 650 143.0 31.0|479 408 4v S= #3 620 142.0 32.0(303 305 24 N= ¢5 110 1240 50.0
610 673 4v N+1 #2 650 143.0 31.0|506 579 4v S= v4 620 142.0 32.0|306 302 24 N= ¢J 110 1240 50.0
672 611 4v N+1 T 650 143.0 31.0|874 871 4y N= ¢J 620 142.0 32.0|376 311 24 N= ¢J 110 1240 50.0
674 609 4v N+1 v9 650 143.0 31.0|105 178 3NS= ¢6 600 116.0 58.0|380 304 24 N= ¢7 110 1240 50.0
677 606 4v N+1 ¢2 650 143.0 31.0|107 176 3NS= 7 600 116.0 58.0 (476 411 24 N= ¢5 110 1240 50.0
680 602 4v N+1 v2 650 143.0 31.0|171 172 3NS= #3 600 116.0 58.0 (480 404 24 N= ¢5 110 1240 50.0
709 772 4vy N+1 ¢4 650 143.0 31.0|202 204 3NS= 46 600 116.0 58.0(502 504 24 N = ¢6 110 1240 50.0
776 705 4v N+1 T 650 143.0 31.0|211 274 3NS= ¢6 600 116.0 58.0|506 579 24 N= ¢5 110 1240 50.0
779 702 4v N+1 #3 650 143.0 31.0|276 209 3NS= #3 600 116.0 58.0 (575 510 24 N= ¢5 110 1240 50.0
780 701 4v S+1 v6 650 143.0 31.0|277 208 3NS= ¢2 600 116.0 58.0|577 508 24 N = ¢5 110 1240 50.0
811 870 4v N+1 v2 650 143.0 31.0|370 375 3NS= #3 600 116.0 58.0 (578 507 24 N = ¢2 110 1240 50.0
871 810 4v N+1 v2 650 143.0 31.0|374 371 3NS= ¢6 600 116.0 58.0|602 604 24 N = ¢5 110 1240 50.0
876 805 4v N+1 T 650 143.0 31.0|378 309 3NS= ¢2 600 116.0 58.0|606 679 24 N = ¢5 110 1240 50.0
880 801 4v N+1 v9 650 143.0 31.0|407 401 3NS= 6 600 116.0 58.0 (671 672 24 N= ¢5 110 1240 50.0
280 202 3NN+1 T 630 111.0 63.0|472 473 3NS= #3 600 116.0 58.0 (673 670 24 N= ¢5 110 1240 50.0
670 671 3NN+1 T 630 111.0 63.0|480 404 3NS= 46 600 116.0 58.0(678 607 24 N= ¢J 110 1240 50.0
703 778 3NN+1 T 630 111.0 63.0|505 501 3NS= #3 600 116.0 58.0 (680 603 24 N = ¢5 110 1240 50.0
803 878 3NN+1 #6 630 111.0 63.0|576 509 3N S = #3 600 116.0 58.0(707 701 24 N= ¢J 110 1240 50.0
105 177 4v N= v9 620 73.0 101.0|577 508 3N S = 46 600 116.0 58.0 (772 773 24 N= ¢5 110 1240 50.0
172 111 4y N= v9 620 73.0 101.0|707 701 3N S = &7 600 116.0 58.0 (776 711 24 N= ¢6 110 1240 50.0
175 108 4v N = v2 620 73.0 101.0|770 775 3N S= 46 600 116.0 58.0 (777 710 24 N= ¢6 110 1240 50.0
210 273 4v N= v2 620 73.0 101.0|776 711 3NS= v7 600 116.0 58.0|780 704 24 N = ¢5 110 1240 50.0
270 271 4v N= &2 620 73.0 101.0|803 805 3N S = &7 600 116.0 58.0(870 875 24 N= ¢J 110 1240 50.0
272 211 4v N= &2 620 73.0 101.0|876 811 3N S= v7 600 116.0 58.0|877 810 24 N= v6 110 1240 50.0
276 207 4v N= v9 620 73.0 101.0|104 179 3N S-1 *7 -100 53.0 121.0|879 808 24 N = ¢J 110 1240 50.0
311 370 4v N= v9 620 73.0 101.0 |106 177 3N S-1 &7 -100 53.0 121.0 |[478 409 44 V-1 4 100 89.0 85.0
373 308 4v N = «J 620 73.0 101.0 |111 174 5v S-1 46 -100 53.0 121.0 |511 574 4+ V-1 vA 100 89.0 85.0
379 302 4y N= v9 620 73.0 101.0 {173 170 3N S-1 v7 -100 53.0 121.0|571 572 4¢ V-1 vA 100 89.0 85.0
380 301 4v N= T 620 73.0 101.0 |175 110 3N S-1 v7 -100 53.0 121.0|703 705 3¢ V-1 vA 100 89.0 85.0
404 477 4y N= 42 620 73.0 101.0 |180 103 3N S-1 *3 -100 53.0 121.0 (101 109 34 N-1 +J -50 56.0 118.0
409 472 4v N= +J 620 73.0 101.0 {206 279 3N S-1 46 -100 53.0 121.0 (106 177 34 N-1 +8 -50 56.0 118.0
471 410 4y N= v9 620 73.0 101.0|271 272 3N S-1 &7 -100 53.0 121.0 (111 174 34 N-1 ¢+5 -50 56.0 118.0
473 408 4y N= v9 620 73.0 101.0|273 270 3N S-1 46 -100 53.0 121.0 |173 170 44 S-1 &A -50 56.0 118.0
474 407 4v N= T 620 73.0 101.0 {278 207 3N S-1 *5 -100 53.0 121.0 (206 279 34 N-1 +5 -50 56.0 118.0
476 405 4y N= v9 620 73.0 101.0 |303 305 3N S-1 *3 -100 53.0 121.0 |271 272 34 N-1 ¢+5 -50 56.0 118.0
479 402 4y N= v9 620 73.0 101.0 |306 302 3N S-1 *3 -100 53.0 121.0 |273 270 44 S-1 &A -50 56.0 118.0
480 401 4v N= T 620 73.0 101.0 {377 310 3NS-1 &7 -100 53.0 121.0 (275 210 34 N-1 +5 -50 56.0 118.0
504 579 4v N= v2 620 73.0 101.0 |380 304 4v N-1 +J -100 53.0 121.0 |370 375 34 N-1 *6 -50 56.0 118.0
572 511 4v N= v2 620 73.0 101.0 |403 405 3N S-1 *3 -100 53.0 121.0 (372 373 34 N-1 ¢J -50 56.0 118.0
575 508 4v N = v9 620 73.0 101.0 |406 402 3N S-1 v7 -100 53.0 121.0 |374 371 34 N-1 ¢4 -50 56.0 118.0
580 502 4v N = v2 620 73.0 101.0 |[470 475 3N S-1 *3 -100 53.0 121.0 |377 310 44 N-1 &T -50 56.0 118.0
601 603 4v N = v9 620 73.0 101.0 |476 411 3NS-1 *3 -100 53.0 121.0 (378 309 34 N-1 ¢J -50 56.0 118.0
605 678 4v N = T 620 73.0 101.0 |477 410 4v S-1 2 -100 53.0 121.0 |403 405 34 N-1 +5 -50 56.0 118.0
675 608 4v N = v9 620 73.0 101.0 |[478 409 3N S-1 *3 -100 53.0 121.0 [407 401 34 N-1 ¢+5 -50 56.0 118.0
676 607 4v N = «J 620 73.0 101.0 |502 504 3N S -1 »3 -100 53.0 121.0 (470 475 34 N-1 ¢J -50 56.0 118.0
704 777 4v S= +3 620 73.0 101.0 |511 574 5v N-1 +J -100 53.0 121.0 |474 471 34 N-1 +5 -50 56.0 118.0
711 770 4v N = &2 620 73.0 101.0 |571 572 44 S-1 46 -100 53.0 121.0 |505 501 34 N-1 &5 -50 56.0 118.0
773 708 4v N = v9 620 73.0 101.0 |573 570 3N S-1 +6 -100 53.0 121.0 |573 570 34 N-1 ¢+5 -50 56.0 118.0
775 706 4v N = v9 620 73.0 101.0|575 510 3N S-1 3 -100 53.0 121.0 |676 609 4« S-1 A -50 56.0 118.0
804 877 4v N= &3 620 73.0 101.0 |578 507 3N S-1 46 -100 53.0 121.0 |677 608 4& S-1 vT -50 56.0 118.0
873 808 4v N = ] 620 73.0 101.0 |602 604 3N S -1 a2 -100 53.0 121.0 |706 702 34 N-1 +6 -50 56.0 118.0
875 806 4v N = T 620 73.0 101.0|605 601 3N S-1 &7 -100 53.0 121.0|770 775 34 N-1 ¢+5 -50 56.0 118.0
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577 506 3NN = 42 600 37.0 137.0 (606 679 3NS-1 &7 -100 53.0 121.0(774 771 34 N-1 +6 -50 56.0 118.0
874 807 3NN= 42 600 37.0 137.0 (675 610 3NS-1 +2 -100 53.0 121.0(778 709 34 N-1 +5 -50 56.0 118.0
275 208 5v S-1 v3 -100 28.0 146.0 (676 609 3N S-1 &7 -100 53.0 121.0 (779 708 34 N-1 +5 -50 56.0 118.0
309 372 4y N-1 &3 -100 28.0 146.0 (677 608 3NS-1 v7 -100 53.0 121.0 (803 805 34 N-1 +5 -50 56.0 118.0
376 305 6v N-1 a2 -100 28.0 146.0 (680 603 3N S-1 &3 -100 53.0 121.0 ({806 802 34 N-1 +5 -50 56.0 118.0
411 470 6v S-1 &6 -100 28.0 146.0|772 773 3NS-1 &3 -100 53.0 121.0 (874 871 34 N-1 +5 -50 56.0 118.0
576 507 6v N-1 v9 -100 28.0 146.0 (774 771 3NS-1 &7 -100 53.0 121.0 ({102 108 44 N -2 +5 -100 20.0 154.0
771 710 4y N-1 v9 -100 28.0 146.0 (777 710 3NS-1 &T -100 53.0 121.0 (278 207 44 N-2 +*J -100 20.0 154.0
774 707 6v S-1 &5 -100 28.0 146.0 (780 704 3N S-1 &3 -100 53.0 121.0 ({307 301 44 N-2 +5 -100 20.0 154.0
104 178 6NN -2 v9 -200 11.0 163.0 (806 802 3N S-1 &3 -100 53.0 121.0 (477 410 34 N-2 &T -100 20.0 154.0
201 203 6v N-2 v2 -200 11.0 163.0(807 801 3N S-1 +2 -100 53.0 121.0 (675 610 44 N-2 +5 -100 20.0 154.0
277 206 6¥ N -2 v2 -200 11.0 163.0 (877 810 3NS-1 &3 -100 53.0 121.0 (807 801 44 N -2 +6 -100 20.0 154.0
475 406 6 N -2 &2 -200 11.0 163.0(878 809 3N S-1 &3 -100 53.0 121.0 (876 811 44 N-2 +5 -100 20.0 154.0
501 503 6v S-2 v6 -200 11.0 163.0(879 808 3N S-1 &3 -100 53.0 121.0|175 110 3# V= A -110 9.0 165.0
505 578 6v N -2 vT -200  11.0 163.0 |474 471 6v S-2 v4 -200 7.0 167.0|202 204 34 O= a2 -110 9.0 165.0
510 573 6v S-2 vT -200 11.0 163.0 (611 674 4ANS-2 46 -200 7.0 167.0 |406 402 3& V= vA -110 9.0 165.0
570 571 6v N-2 v9 -200 11.0 163.0 (673 670 3NS-2 &3 -200 7.0 167.0 |472 473 3& V= vA -110 9.0 165.0
574 509 6v N -2 &2 -200 11.0 163.0 (870 875 6v S-2 v7 -200 7.0 167.0 {280 203 4¢ V= oA -130 3.0 171.0
879 802 6v N-2 v9 -200 11.0 163.0 (580 503 6N S -3 &3 -300 1.0 173.0 (479 408 2& V +2 a3 -130 3.0 171.0
809 872 7v N-3 v9 -300 0.0 174.0 (703 705 6N S -3 &3 -300 1.0 173.0 (576 509 44DN-2 45 -300 0.0 174.0
7 & E3 Basta kontrakt 8 & DKn832 Basta kontrakt 9 & KKn964 Basta kontrakt
Syd v Kn64 34 V =-140 Vast v 1085 3NT S =400 Nord v K2 3v N =140
Alla + Kn1072 Ingen * K7 ov + Kn82
#10965 & ¢ v & NT &K74 & ¢ v & NT &#EK10 & ¢ v & NT
4 KKn82 «D9764 N8 7 8 46 49764 4105 N9 7 7 9 8 4E832 4D1075 N58 956
v7532 vK10 S 87846 vKD973 v64 S97899 vEKn4 76 S6 9966
+D9 + K865 O46596 +E3 ¢Kn10964 O 4 55 3 3 ¢ E1097 +D 074377
#3843 &EK V46058975 #53 #E1098 V45533 &D7 #985432 V74377
105 & EK a-
vED98 v EKn2 v D109853
¢ E43 + D852 ¢ K6543
#DKn72 #DKn62 #Kn6
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
780 703 44 O -2 «T 200 1740 0.0|105 179 3#DV-4 44 800 173.0 1.0|201 209 2¢ V-5 &A 500 1740 0.0
106 178 1IN S +2 v3 150 172.0 2.0|876 809 3¢DO-4 «A 800 173.0 1.0|278 211 4y S= &Q 420 171.0 3.0
103 109 3# N = +Q 110 170.0 4.0(878 807 3N S +3 v9 490 170.0 4.0|872 877 4v S= &Q 420 171.0 3.0
311 374 44 O-1 «T 100 165.0 9.0(278 209 3N S +2 v3 460 164.0 10.0(801 811 24D O-1 ¥5 200 168.0 6.0
503 505 34 V-1 T 100 165.0 9.0(371 372 3NS+2 vQ 460 164.0 10.0|772 777 2¢DS= #Q 180 166.0 8.0
677 610 34 O-1 «Q 100 165.0 9.0(377 308 3N S +2 ¢A 460 164.0 10.0|275 272 2v S+2 &Q 170 159.0 15.0
679 608 44 O-1 «T 100 165.0 9.0(406 479 3N S +2 v3 460 164.0 10.0|378 371 2v S+2 «Q 170 159.0 15.0
279 208 INN= 46 90 157.0 17.0|711 774 3N S +2 vK 460 164.0 10.0 {408 404 3v S+1 »Q 170 159.0 15.0
302 304 INN= 46 90 157.0 17.0|170 175 3N S +1 v3 430 145.0 29.0|575 572 3v S+1 &Q 170 159.0 15.0
570 575 2# S= 48 90 157.0 17.0|279 208 3N S +1 v3 430 145.0 29.0|709 703 2v S +2 ¢5 170 159.0 15.0
678 609 1NN = a4 90 157.0 17.0|305 301 3NS+1 vK 430 145.0 29.0|774 775 2v S +2 A 170 159.0 15.0
876 809 INO = +3 -90 152.0 22.0(375 310 3NS+1 vK 430 145.0 29.0(380 306 1INS +2 T 150 152.0 22.0
272 273 INN-1 46 -100 143.0 31.0 (411 474 3NS+1 vK 430 145.0 29.0|103 111 2v S+1 &Q 140 148.0 26.0
276 211 INN-1 a4 -100 143.0 31.0 (471 472 3NS+1 vK 430 145.0 29.0|171 101 3v S= T 140 148.0 26.0
371 372 INN-1 46 -100 143.0 31.0|476 409 3NS+1 vK 430 145.0 29.0|501 509 3v S= ¢+A 140 148.0 26.0
380 303 INN-1 46 -100 143.0 31.0 (503 505 3N S +1 vK 430 145.0 29.0|173 174 2v S= «Q 110 138.0 36.0
477 408 2v S-1 a2 -100 143.0 31.0(574 571 3NS+1 &5 430 145.0 29.0|273 274 2v S= »Q 110 138.0 36.0
572 573 INN-1 a4 -100 143.0 31.0(576 511 3N S+1 vK 430 145.0 29.0|279 210 2v N= +Q 110 138.0 36.0
607 601 2v S-1 &K -100 143.0 31.0(670 675 3NS+1 v2 430 145.0 29.0|302 310 2v S= «Q 110 138.0 36.0
880 803 1NN -1 a4 -100 143.0 31.0(677 610 3NS+1 vQ 430 145.0 29.0|402 410 2v S= »Q 110 138.0 36.0
305 301 24 O= aT -110 133.0 41.0 (802 804 3N S +1 v7 430 145.0 29.0|478 471 2y N= +Q 110 138.0 36.0
606 602 24 O = &2 -110 133.0 41.0(875 810 3N S+1 vK 430 145.0 29.0|878 871 2v N= v3 110 138.0 36.0
411 474 INO+1 8 -120 128.0 46.0 (277 210 44 N= v3 420 125.0 49.0|504 506 INS= +9 90 129.0 45.0
574 571 INO+1 v9 -120 128.0 46.0 |477 408 44 S= vK 420 125.0 49.0|579 510 INS= *7 90 129.0 45.0
777 708 INO+1 ¥9 -120 128.0 46.0 (572 573 44 S= vK 420 125.0 49.0|102 170 INS-1 +9 -50 112.0 62.0
101 111 24 O+1 #Q -140 77.0 97.0(579 508 44 S= vK 420 125.0 49.0|106 179 INS-1 +9 -50 112.0 62.0
105 179 24 V+1 vJ -140 77.0 97.0 (580 504 44 N= &A 420 125.0 49.0 (107 178 INS-1 +9 -50 112.0 62.0
107 177 24 O+1 45 -140 77.0 97.0(780 703 44 N= v6 420 125.0 49.0|108 177 2v N-1 +Q -50 112.0 62.0
108 176 24 O+1 45 -140 77.0 97.0(101 111 3NS= &5 400 99.0 75.0(180 105 3v N-1 v7 -50 112.0 62.0
170 175 34 O = a5 -140 77.0 97.0 (106 178 3NN = 46 400 99.0 75.0(207 203 INS-1 *7 -50 112.0 62.0
172 173 24 O+1 #Q -140 77.0 97.0(180 104 3NS= v8 400 99.0 75.0(271 276 4v N-1 +Q -50 112.0 62.0
174 171 24 O+1 +3 -140 77.0 97.0 ({207 201 3NS= vK 400 99.0 75.0(374 375 4v N-1 a7 -50 112.0 62.0
180 104 24 O+1 #Q -140 77.0 97.0(270 275 3NS= v3 400 99.0 75.0(401 411 2v N-1 +5 -50 112.0 62.0
206 202 24 O+1 &5 -140 77.0 97.0(274 271 3NS= v3 400 99.0 75.0(508 502 3v S-1 &7 -50 112.0 62.0
207 201 24 O+1 ¢A -140 77.0 97.0|302 304 3NS= v6 400 99.0 75.0(578 511 2v S-1 &Q -50 112.0 62.0
274 271 34 O = &Q -140 77.0 97.0(373 370 3NS= vK 400 99.0 75.0(580 505 2v N-1 +Q -50 112.0 62.0
278 209 24 O+1 ¢3 -140 77.0 97.0(380 303 3NS= v7 400 99.0 75.0(680 605 3v S-1 &Q -50 112.0 62.0
306 379 34 O= ¢A -140 77.0 97.0|473 470 3N S= v7 400 99.0 75.0(805 807 4v N-1 +Q -50 112.0 62.0
373 370 24 O+1 &5 -140 77.0 97.0|475 410 3NS= vK 400 99.0 75.0(876 873 2v N-1 +Q -50 112.0 62.0
376 309 24 O+1 #Q -140 77.0 97.0|506 502 3N S = v3 400 99.0 75.0(577 570 24 O = vT -90 94.0 80.0
377 308 24 O+1 &Q -140 77.0 97.0|603 605 3N S = v7 400 99.0 75.0(607 603 1INV = 46 -90 94.0 80.0
378 307 24 O+1 ¢A -140 77.0 97.0|676 611 3NS= vK 400 99.0 75.0(802 810 24 O = vT -90 94.0 80.0
402 404 24 O+1 T -140 77.0 97.0(705 701 3NS= v3 400 99.0 75.0 (204 206 14 N-2 v7 -100 69.0 105.0
406 479 24 O+1 &2 -140 77.0 97.0(778 707 3NS= vK 400 99.0 75.0(277 270 4v N-2 +Q -100 69.0 105.0
471 472 24 O+1 45 -140 77.0 97.0 (805 801 3N S= v3 400 99.0 75.0(280 205 4v N -2 +Q -100 69.0 105.0
473 470 24 O+1 ¢A -140 77.0 97.0|871 872 3NS= vK 400 99.0 75.0(301 311 4v N-2 ¢+Q -100 69.0 105.0
475 410 24 O+1 ¢A -140 77.0 97.0|873 870 3NS= vK 400 99.0 75.0(372 377 4v N-2 a7 -100 69.0 105.0
478 407 24 V +1 +*J -140 77.0 97.0 (877 808 3N S= vK 400 99.0 75.0|474 475 4v S -2 &7 -100 69.0 105.0
506 502 24 O+1 ¢3 -140 77.0 97.0(107 177 2vDV-2 8 300 78.0 96.0 (480 406 4v S-2 #Q -100 69.0 105.0
507 501 24 O+1 &T -140 77.0 97.0 (206 202 24 N +3 +J 200 76.0 98.0 (571 576 4v N -2 +Q -100 69.0 105.0
576 511 24 O+1 #Q -140 77.0 97.0|674 671 2N S +2 vK 180 74.0 100.0 (604 606 3v N -2 &4 -100 69.0 105.0
577 510 24 O+1 &2 -140 77.0 97.0(174 171 24 N+2 v6 170 68.0 106.0 (671 676 3v N -2 &9 -100 69.0 105.0
579 508 24 O+1 45 -140 77.0 97.0 [405 401 24 N +2 v6 170 68.0 106.0 (673 674 4v N -2 &3 -100 69.0 105.0
580 504 24 O+1 #Q -140 77.0 97.0 (607 601 34 S+1 ¢A 170 68.0 106.0 (677 670 4v N -2 +Q -100 69.0 105.0
603 605 24 O+1 #Q -140 77.0 97.0|776 709 34 S+1 vK 170 68.0 106.0 (678 611 4v S-2 ¢A -100 69.0 105.0
672 673 24 O+1 ¢3 -140 77.0 97.0 (806 879 34 S+1 ¢A 170 68.0 106.0 (679 610 4v N -2 &9 -100 69.0 105.0
674 671 24 O+1 &5 -140 77.0 97.0 (678 609 2N S +1 v3 150 61.0 113.0 |702 710 4v S-2 2 -100 69.0 105.0
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676 611 24 O+1 #Q -140 77.0 97.0|679 608 2N S +1 vK 150 61.0 113.0 |705 707 4v N -2 ¢Q -100 69.0 105.0
680 604 24 O+1 T -140 77.0 97.0(103 109 2y N+1 49 140 56.0 118.0 |708 704 4v N -2 ¢Q -100 69.0 105.0
702 704 34 O = «Q -140 77.0 97.0(276 211 34 N= ¢J 140 56.0 118.0 |776 773 4v S-2 ¢A -100 69.0 105.0
705 701 34 O= ¢A -140 77.0 97.0|775 710 14 N+2 v4 140 56.0 118.0 |780 706 1a N -2 ¢Q -100 69.0 105.0
706 779 24 O+1 T -140 77.0 97.0|578 509 1IN S +1 v3 120 52.0 122.0|809 803 1IN S -2 +9 -100  69.0 105.0
711 774 24 O+1 45 -140  77.0 97.0|280 204 24 N= v6 110 47.0 127.0 |874 875 3NN -2 *9 -100  69.0 105.0
773 770 24 V+1  v4 -140 77.0 97.0|306 379 24 N= v6 110 47.0 127.0|879 870 4vyDS-1 ¢A -100 69.0 105.0
775 710 24 O+1 #Q -140 77.0 97.0|378 307 24 N= v6 110 47.0 127.0|308 304 INV+1 &K -120 46.0 128.0
776 709 24 O+1 &2 -140 77.0 97.0|680 604 24 N = v6 110 47.0 127.0 |104 110 4v N-3 ¢+Q -150 31.0 143.0
778 707 24 V+1  v4 -140 77.0 97.0 376 309 2¢vyDV-1 ¢K 100 41.0 133.0 {109 176 3NN -3 »8 -150 31.0 143.0
802 804 24 O+1 ¢A -140 77.0 97.0(880 803 2v V-2 +K 100 41.0 133.0|175 172 3N S-3 ¢7 -150 31.0 143.0
805 801 24 O+1 #Q -140 77.0 97.0|102 110 3NS-1 vK -50 24.0 150.0 ({208 202 24 N -3 ¢+Q -150 31.0 143.0
806 879 24 O+1 #Q -140 77.0 97.0|108 176 3N S-1 vK -50 24.0 150.0 (379 370 4v N-3 *9 -150 31.0 143.0
811 874 24 O+1 &7 -140 77.0 97.0 (172 173 44 N-1 v6 -50 24.0 150.0 (409 403 4v N-3 ¢Q -150 31.0 143.0
871 872 24 O+1 T -140 77.0 97.0|311 374 3NS-1 v3 -50 24.0 150.0 (472 477 4v N -3 ¢Q -150 31.0 143.0
877 808 24 O+1 ¢A -140 77.0 97.0|478 407 3NS-1 v3 -50 24.0 150.0 (479 470 4v N-3 &4 -150 31.0 143.0
102 110 34 O+1 #A  -170 23.0 151.0 (480 403 44 N-1 v6 -50 24.0 150.0 [507 503 4v¥ N -3 ¢Q -150 31.0 143.0
280 204 24 O+2 #Q -170 23.0 151.0|507 501 3N S-1 v3 -50 24.0 150.0 {601 609 3N N -3 &4 -150 31.0 143.0
476 409 24 O+2 ¢33 -170  23.0 151.0 |570 575 3N S-1 v3 -50 24.0 150.0 (675 672 4y N-3 ¢Q -150 31.0 143.0
480 403 24 O+2 #Q -170 23.0 151.0|606 602 44 S-1 &5 -50 24.0 150.0 (701 711 2N N-3 *2 -150 31.0 143.0
670 675 34 O+1 ¢A -170 23.0 151.0(672 673 3NS-1 vK -50 24.0 150.0 (778 771 4v N-3 ¢+Q -150 31.0 143.0
771 772 24 O+2 oA -170 23.0 151.0|702 704 3N S-1 v3 -50 24.0 150.0 (779 770 4v N-3 ¢Q -150 31.0 143.0
203 205 4% S -2 a2 -200  11.0 163.0|771 772 44 S-1 &5 -50 24.0 150.0 ({309 303 2N N -4 &4 -200  11.0 163.0
270 275 2NN -2 a4 -200 11.0 163.0|773 770 3N S-1 v3 -50 24.0 150.0 (376 373 24 N-4 ¢+Q -200 11.0 163.0
405 401 INN-2 a4 -200 11.0 163.0|777 708 3N S -1 v3 -50 24.0 150.0 (405 407 3NN -4 *9 -200  11.0 163.0
578 509 1IN S -2 v3 -200 11.0 163.0|811 874 3N S-1 v3 -50 24.0 150.0 (476 473 3NN -4 *2 -200  11.0 163.0
875 810 INN-2 46 -200  11.0 163.0|272 273 2N S -2 &3 -100 6.0 168.0 (608 602 24 N -4 &4 -200  11.0 163.0
878 807 1INN-2 3 -200  11.0 163.0 |[402 404 44 N -2 a4 -100 6.0 168.0 (808 804 3N N -4 *9 -200  11.0 163.0
375 310 INN-3 a5 -300 4.0 170.0|706 779 3N S -2 v7 -100 6.0 168.0 (305 307 5¢DS-2 vA  -300 3.0 171.0
277 210 44 O= «Q -620 2.0 172.0 {203 205 3N S -3 vK  -150 1.0 173.0|880 806 4vyDN-2 ¢Q -300 3.0 171.0
873 870 3¢DN-4 46 -1100 0.0 174.0 [577 510 4v N-3 T  -150 1.0 173.0|573 574 6vyDN-3 7 -500 0.0 174.0
10 « EDKn87 Basta kontrakt 11 485 Basta kontrakt 12 « KD82 Basta kontrakt
Ost v DKn 3NT S =600 Syd v 84 3v V =-140 Vast vD72 2NTV =-120
Alla +D7 Ingen ¢ Kn652 NS 974
#K1093 & ¢ v & NT #KD852 & ¢ v & NT #KKn7 & ¢ v & NT
#1053 &K962 N 109 8 8 9 # 643 « ED92 N7 74505 4 EKN754 o- N6 35765
vE832 765 S 109 8 8 9 v EK1052 ¥Kn976 S774565 v4 vEKKn1085 S 5 2 3 6 5
¢ 1032 ¢ E654 O3 4454 ¢ E74 ¢+ K3 0559 88 +Kn853 ¢ E1062 059858
#E52 484 V34454 #96 #Kn103 V55988 #653 #0982 V59858
Ly & KKn107 # 10963
v K1094 vD3 v 963
+ KKn98 + D1098 + KD
#DKn76 *E74 +«ED104
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
204 206 3N S +1 v2 630 160.0 14.0|704 706 2¢ V-3 «K 150 1740 0.0(576 573 4vDO-2 T 300 1740 0.0
271 276 3N S +1 v2 630 160.0 14.0|707 703 INS= v5 90 171.0 3.0(107 179 4y O-2 ¢+Q 100 1650 9.0
279 210 3N S +1 v3 630 160.0 14.0|801 809 2¢ S= vA 90 171.0 3.0|208 204 4v O-2 ¢K 100 165.0 9.0
302 310 3NN+1 ¢5 630 160.0 14.0|103 171 4v V-1 #K 50 156.0 18.0(280 206 4v O -2 ¢K 100 1650 9.0
372 377 3NS+1 ¢2 630 160.0 14.0|202 210 4v V-1 8 50 156.0 18.0(371 376 4vDO-1 ¢K 100 1650 9.0
376 373 3NN+1 ¢4 630 160.0 14.0|209 203 4v V-1 48 50 156.0 18.0 (407 403 3¢ O -2 #A 100 165.0 9.0
474 475 3N S +1 v2 630 160.0 14.0|278 271 4v V-1 8 50 156.0 18.0 (478 411 4v O -2 ¢K 100 1650 9.0
501 509 3N S +1 v3 630 160.0 14.0|301 309 4v V-1 8 50 156.0 18.0 (501 511 2¢ O-2 ¢+Q 100 1650 9.0
578 511 3NS+1 #2 630 160.0 14.0|401 409 3N O-1 +9 50 156.0 18.0 (875 872 5¢ V-2 ¢7 100 1650 9.0
604 606 3N S +1 v3 630 160.0 14.0|475 472 4v V-1 ¢J 50 156.0 18.0 (105 111 3¢ V-1 LN 50 145.0 29.0
671 676 3N S +1 ¢2 630 160.0 14.0|480 405 4v V-1 #K 50 156.0 18.0(202 210 4v O-1 &4 50 145.0 29.0
702 710 3N S +1 v2 630 160.0 14.0|775 772 4v O-1 +9 50 156.0 18.0(272 277 4v O-1 ¢K 50 1450 29.0
774 775 3NS+1 45 630 160.0 14.0(804 806 4v O-1 8 50 156.0 18.0(276 273 4v O-1 ¢K 50 1450 29.0
779 770 3N S +1 v3 630 160.0 14.0|808 802 4v V-1 +J 50 156.0 18.0(377 370 3v O-1 ¢K 50 1450 29.0
780 706 3N S +1 v3 630 160.0 14.0|878 811 4v V-1 2 50 156.0 18.0(379 310 3v O-1 ¢K 50 1450 29.0
102 170 3NN = 8 600 129.0 45.0(880 805 4v O-1 8 50 156.0 18.0(473 474 3v O-1 ¢K 50 1450 29.0
106 179 3NN = v5 600 129.0 45.0|471 476 INN-1 v6 -50 141.0 33.0 (505 507 4y O-1 oT 50 145.0 29.0
109 176 3N S= 5 600 129.0 45.0(576 573 3#S-1 vA -50 141.0 33.0 (601 611 3y O-1 ¢K 50 1450 29.0
207 203 3NN = ¢4 600 129.0 45.0|574 575 4¢ S-2 vA -100 136.0 38.0|679 670 4v O-1 &T 50 145.0 29.0
275 272 3NN= ¢5 600 129.0 45.0|578 571 INS-2 vA -100 136.0 38.0|701 709 3v O-1 ¢K 50 1450 29.0
280 205 3N S= v2 600 129.0 45.0|602 610 44 N-2 vQ -100 136.0 38.0|801 809 3¢ O-1 aT 50 145.0 29.0
408 404 3N S = v2 600 129.0 45.0|104 170 INV+1 &2 -120 130.0 44.0|780 705 24 S-1 v4 -100 132.0 42.0
478 471 3NN = ¢5 600 129.0 45.0|478 411 2NO= +8 -120 130.0 44.0 (104 170 2v O = ¢K -110 116.0 58.0
571 576 3N N= ¢4 600 129.0 45.0|672 677 2NO = +8 -120 130.0 44.0 (109 177 2vy O = ¢K -110 116.0 58.0
580 505 3N S = v3 600 129.0 45.0|101 173 3v V= +J -140  77.0 97.0|174 175 2v O = ¢K -110 116.0 58.0
601 609 3NN = ¢5 600 129.0 45.0|105 111 3v V= +J -140  77.0 97.0|201 211 2¢ O+1 A -110 116.0 58.0
608 602 3N S = v3 600 129.0 45.0|107 179 2y V+1 46 -140 77.0 97.0|304 306 2v O = ¢K -110 116.0 58.0
701 711 3NS= v3 600 129.0 45.0|109 177 3v O= +8 -140  77.0 97.0|378 311 2v O = ¢K -110 116.0 58.0
705 707 3NN= 46 600 129.0 45.0(110 176 3v V= &K  -140 77.0 97.0 (477 470 2v O = ¢K -110 116.0 58.0
802 810 3NS= v2 600 129.0 45.0|172 102 3v V= &K  -140 77.0 97.0 (509 503 2v O = ¢K -110 116.0 58.0
880 806 3N S = v2 600 129.0 45.0|174 175 2v V+1 2 -140  77.0 97.0|572 577 2v O = ¢K -110 116.0 58.0
171 101 1IN S +3 v2 180 102.0 72.0|180 106 3v V= ¢J -140 77.0 97.0|678 671 2y O = ¢K -110 116.0 58.0
175 172 1IN S +3 v2 180 102.0 72.0|201 211 3v V= &K  -140 77.0 97.0(707 703 2y O = ¢K -110 116.0 58.0
301 311 2N S +2 v2 180 102.0 72.0|274 275 3v V= +3 -140 77.0 97.0|807 803 3¢ V= v2 -110 116.0 58.0
305 307 INS+3 v3 180 102.0 72.0|276 273 3v V= 2 -140 77.0 97.0|808 802 2v O = ¢K -110 116.0 58.0
380 306 1IN S +3 v2 180 102.0 72.0|279 270 3v V= 48 -140 77.0 97.0|871 876 2y O = ¢K -110 116.0 58.0
409 403 1IN S +3 v2 180 102.0 72.0|280 206 3v V= +J -140  77.0 97.0|873 874 2v O= ¢K -110 116.0 58.0
479 470 INS+3 v2 180 102.0 72.0|304 306 3v V= 8 -140 770 97.0|101 173 3¢ V+1 v2 -130 98.0 76.0
776 773 2N S +2 v2 180 102.0 72.0|307 303 3v V= ¢+5 -140 77.0 97.0|375 372 2¢ O+2 49 -130 98.0 76.0
805 807 2N S +2 ¢T 180 1020 72.0|308 302 2v V+1 48 -140 77.0 97.0|479 410 2¢ O+2 &A -130 98.0 76.0
876 873 2N S +2 v3 180 102.0 72.0|371 376 3v V= ¢+5 -140 77.0 97.0|108 178 2y O+1 ¢K -140 71.0 103.0
878 871 1IN S +3 v2 180 102.0 72.0|373 374 2v V+1 48 -140 77.0 97.0|110 176 2vy O+1 ¢Q -140 71.0 103.0
180 105 2N S +1 v2 150 84.0 90.0|377 370 3v V= 8 -140 77.0 97.0|172 102 2y O+1 K -140 71.0 103.0
378 371 2NS+1 45 150 84.0 90.0|380 305 3v V= 2 -140 77.0 97.0|274 275 2y O+1 3 -140 71.0 103.0
405 407 2NN+1 +5 150 84.0 90.0|404 406 3v V= 2 -140 77.0 97.0|279 270 2v O+1 ¢K -140 71.0 103.0
507 503 1IN S +2 v2 150 84.0 90.0 |407 403 3v 8 -140 77.0 97.0|301 309 2¢v O+1 ¢K -140 71.0 103.0
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673 674 INS+2 v3 150 84.0 90.0 408 402 2v V+1 48 -140 77.0 97.0|373 374 2v O+1 ¢K -140 71.0 103.0
678 611 INS+2 v2 150 84.0 90.0|473 474 3y V= ¢2 -140 77.0 97.0|471 476 2v O+1 ¢K -140 71.0 103.0
808 804 INS+2 v5 150 84.0 90.0 (479 410 3v V= ¢5 -140 77.0 97.0(475 472 2vO+1 43 -140 710 103.0
277 270 2v S+1 4T 140 76.0 98.0|501 511 3v V= 48 -140 77.0 97.0(480 405 2v O+1 ¢K -140 71.0 103.0
103 111 2#S+2 3 130 47.0 127.0 |502 510 3v V= ¢5 -140 77.0 97.0|508 504 2v O+1 ¢K -140 71.0 103.0
104 110 3# N+1 v6 130 47.0 127.0 |508 504 3v V= K -140 77.0 97.0(578 571 3v O = ¢K  -140 71.0 103.0
107 178 3# N+1 #8 130 47.0 127.0|509 503 2y V+1 5 -140 77.0 97.0(602 610 3v O = 42 -140 71.0 103.0
173 174 3#S+1 T 130 47.0 127.0 |572 577 2v V+1 48 -140 77.0 97.0|672 677 2v O+1 ¢K -140 71.0 103.0
201 209 3#S+1 v2 130 47.0 127.0 579 570 3v V= 48 -140 77.0 97.0(680 606 2v O+1 v9 -140 71.0 103.0
273 274 2# N+2 v5 130 47.0 127.0 |580 506 3v V= «K -140 77.0 97.0(704 706 2v O+1 ¢K -140 71.0 103.0
278 211 3#N+1 v5 130 47.0 127.0 |601 611 3v V= 8 -140 77.0 970771776 2v O+1 ¢K -140 71.0 103.0
308 304 3« N+1 v5 130 47.0 127.0 (605 607 2v V+1 48 -140 77.0 97.0|773 774 3v O= ¢K -140 71.0 103.0
309 303 3#S+1 ¢3 130 47.0 127.0 |608 604 3v V= 48 -140 77.0 97.0(777 770 2v O+1 ¢K -140 71.0 103.0
374 375 2# N+2 #4 130 47.0 127.0 |609 603 3v V= 8 -140 77.0 97.0(779 710 3v O = ¢K -140 71.0 103.0
379 370 2 N+2 v7 130 47.0 127.0 (674 675 3v V= 8 -140 77.0 97.0(804 806 2v O+1 v4 -140 71.0 103.0
401 411 34 N+1 #8 130 47.0 127.0 |676 673 3y V= 8 -140 77.0 97.0(877 870 3v O = ¢K -140 71.0 103.0
402 410 34 N+1 v6 130 47.0 127.0 |678 671 3y V= 5 -140 77.0 97.0(878 811 2v O+1 ¢K -140 71.0 103.0
472 477 24 S+2 vA 130 47.0 127.0 (679 670 3v V= 48 -140 77.0 97.0(880 805 2v O+1 46 -140 71.0 103.0
476 473 3#S+1 vA 130 47.0 127.0 |680 606 3v V= +J -140 770 97.0|674 675 2¢ O+3 v3  -150 46.0 128.0
504 506 3# N+1 v7 130 47.0 127.0|708 702 3v V= 8 -140 77.0 97.0(103 171 3v O+1 ¢K -170 33.0 141.0
508 502 3&# N+1 v7 130 47.0 127.0 (771 776 3v V= ¢6 -140 77.0 97.0(205 207 2v O+2 «T -170 33.0 141.0
575 572 2 S+2 ¢2 130 47.0 127.0|773 774 3y V= 48 -140 77.0 97.0(209 203 3v O+1 46 -170 33.0 141.0
577 570 2« N+2 ¢A 130 47.0 127.0|780 705 3v V= K -140 77.0 97.0(278 271 2v O+2 46 -170 33.0 141.0
579 510 2# N+2 &8 130 47.0 127.0 (807 803 3v V= *J -140  77.0 97.0|308 302 2v O+2 ¢K -170 33.0 141.0
607 603 3# N+1 v7 130 47.0 127.0|873 874 2v V+1 48 -140 77.0 97.0|380 305 2v O+2 T -170 33.0 141.0
677 670 2# N+2 #3 130 47.0 127.0 |875 872 3y V= 8 -140 77.0 97.0(401 409 2v O+2 46 -170 33.0 141.0
679 610 3« N+1 v7 130 47.0 127.0 (877 870 2v V+1 ¢2  -140 77.0 97.0(404 406 3v O+1 ¢K -170 33.0 141.0
709 703 3# N+1 v5 130 47.0 127.0|879 810 3v V= 48 -140 77.0 97.0(502 510 2v O+2 ¢K -170 33.0 141.0
772 777 3#S+1 &2 130 47.0 127.0|108 178 3v V+1 &K -170 15.0 159.0|580 506 2v O+2 ¢Q -170 33.0 141.0
801 811 24 S+2 ¢2 130 47.0 127.0|205 207 3v V+1 &K -170 15.0 159.0 608 604 2v O+2 ¥3  -170 33.0 141.0
809 803 24 N+2 &6 130 47.0 127.0 1208 204 2v V+2 ¢5 -170 15.0 159.0(879 810 3v O+1 43 -170 33.0 141.0
879 870 3# N+1 v6 130 47.0 127.0|375 372 3v V+1 &K -170 15.0 159.0|574 575 2v O+3 46 -200 17.0 157.0
208 202 INS+1 ¢2 120 17.0 157.0 (378 311 3vV+1 2 -170 15.0 159.0(579 570 34DN-1 ¢K -200 17.0 157.0
872 877 INS+1 v2 120 17.0 157.0 (379 310 3v V+1 8 -170 15.0 159.0 (605 607 1v S-2 v4 200 17.0 157.0
573 574 3# S= ¢2 110 11.0 163.0 (477 470 3vy O+1 &K -170 15.0 159.0 (778 711 34 N -2 vA  -200 17.0 157.0
708 704 24 N= «8 110 11.0 163.0 |505 507 3v V+1 #K -170 15.0 159.0 {180 106 4v O = T 420 9.0 165.0
778 771 2« N+1 v7 110 11.0 163.0 (777 770 3v V+1 #K -170 15.0 159.0 (676 673 4y O = ¢K  -420 9.0 165.0
874 875 2# N+1 v7 110 11.0 163.0 (778 711 3y V+1 48 -170 15.0 159.0 (708 702 4v O = T  -420 9.0 165.0
108 177 INS= v3 90 5.0 169.0 (779 710 3v V+1 #K -170 15.0 159.0 |775 772 4v O = 46  -420 9.0 165.0
675 672 2¢ S= 2 90 5.0 169.0 (871 876 3v V+1 &K -170 15.0 159.0|609 603 2¢vDO= ¢K -470 4.0 170.0
480 406 3NN -1 ¢6  -100 2.0 172.0|272 277 3NO = L) -400 2.0 172.0 (307 303 2NDN-2 vA  -500 1.0 173.0
680 605 44 N -2 «8  -200 0.0 174.0|701 709 3NO+2 49  -460 0.0 174.0 (408 402 44DN-2 vK -500 1.0 173.0
13 4 KDKn63 Basta kontrakt 14 4 D2 Basta kontrakt 15 4743 Basta kontrakt
Nord vD9 64 O D -1 200 Ost v KD6 5NT N =460 Syd v 10984 3v VD-1100
Alla + EDKNn983 Ingen + EKn109 NS + Kn
*- & ¢ v & NT #E1032 & ¢ v & NT #EK952 & ¢ v & NT
aE942 48 N 2 119 115 46 » 10954 N 119 5 1111 « K9852 4 EDKn N9 5444
vK v Kn1032 S 2 119 115 vKn98532 vE1074 S 119 5 119 vK653 vDKn7 S95444
¢1042 o7 0111 4 15 ¢ K8632 ¢D 024822 + K83 + D976 047887
#E7543 #KDKn10982V 111 4 1 5 *7 #KKn86 V24822 *4 #DKn8 V471887
41075 4 EKKn873 4106
v E87654 v- vE2
+ K65 ¢ 754 + E10542
*6 #D954 #10763
Par Kontr Ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
411 405 64 N= K 1430 172.0 2.0(277 274 5NDN= 3 670 1740 0.0|379 372 2#RDV-2 ¢J 600 1740 0.0
501 571 64 N= ¢7 1430 1720 2.0|410 406 44 S+2 #7 480 171.0 3.0|809 805 3# V-4 ¢J 200 1720 20
602 670 64 N = ¢2 1430 1720 2.0|609 605 44 S+2 ¢2 480 171.0 3.0|780 707 4v V-3 «A 150 170.0 4.0
311 305 64 N= K 1370 168.0 6.0(106 170 3NN+2 T 460 158.8 15.2|803 811 3# S = ¢6 110 168.0 6.0
702 772 4¢RDN+148 1320 166.0 8.0(110 177 4ANN+1 ¢J 460 158.8 152101 102 44 O-2 ¢A 100 155.0 19.0
575 576 44DN+2 7 1190 164.0 10.0(202 270 3NN+2 &6 460 158.8 15.2(105 173 44 V-2 ¢J 100 1550 19.0
711 705 54DN+1 7 1050 160.0 14.0(206 208 3NN+2 &6 460 158.8 15.2(106 172 44 V-2 ¢J 100 155.0 19.0
780 708 54DN+1 7 1050 160.0 14.0(307 309 3NN+2 ¢Q 460 158.8 15.2(203 271 4& O -2 ¢A 100 155.0 19.0
878 875 54DN+1 7 1050 160.0 14.0|474 479 3NN+2 &6 460 158.8 15.2(211 205 3N O -2 6 100 155.0 19.0
874 879 5¢DN+1 &K 950 156.0 18.0(501 571 3NN+2 vA 460 158.8 15.2(274 279 44 O-2 3 100 155.0 19.0
603 611 54DN= &K 850 154.0 20.0(510 504 3NN+2 6 460 158.8 152278 275 44DV-1 #A 100 1550 19.0
701 773 5¢DN= &K 750 152.0 22.0(702 772 3NN+2 v4 460 158.8 15.2(401 471 44 O-2 6 100 155.0 19.0
173 103 44 N+2 7 680 136.0 38.0(874 879 4NN+1 +Q 460 158.8 15.2 (403 411 44 O-2 3 100 155.0 19.0
201 271 44 N+2 ¢7 680 136.0 38.0(105 171 44 S+1 &7 450 1285 455|409 405 44 V-2 ¢J 100 1550 19.0
275 276 54 N+1 &K 680 136.0 38.0(279 272 44 N+1 &7 450 1285 455680 608 4v V-2 «K 100 155.0 19.0
279 272 44 N+2 ¢7 680 136.0 38.0(280 207 44 S+1 &7 450 1285 455|706 708 4v V-2 ¢J 100 155.0 19.0
304 370 44 N+2 #K 680 136.0 38.0(303 371 44 S+1 &7 450 1285 455(103 175 3NO-1 3 50 111.0 63.0
376 377 54 N+1 &A 680 136.0 38.0(304 370 44 S+1 &7 450 1285 455|107 171 34 V-1 +J 50 111.0 63.0
410 406 44 N+2 &K 680 136.0 38.0|401 473 44 S+1 &7 450 1285 455|170 176 34 V-1 +J 50 111.0 63.0
474 479 44 N+2 o7 680 136.0 38.0|402 472 44 S+1 &7 450 1285 455|180 108 3N O-1 3 50 111.0 63.0
478 475 54 N+1 ¢7 680 136.0 38.0|403 471 44 S+1 &7 450 1285 455|202 272 44 V-1 +J 50 111.0 63.0
509 505 44 N+2 ¢7 680 136.0 38.0|411 405 44 S+1 &7 450 1285 455204 270 3NO-1 *6 50 111.0 63.0
774 779 44 N+2 7 680 136.0 38.0(502 570 44 N+1 ¢Q 450 1285 455|276 277 44 O-1 vA 50 111.0 63.0
778 775 44 S+2 &K 680 136.0 38.0(509 505 44 S+1 vJ 450 1285 455306 308 44 O-1 vA 50 1110 63.0
810 806 54 N+1 &K 680 136.0 38.0(603 611 44 S+1 &7 450 1285 455|373 378 44 V-1 +J 50 111.0 63.0
811 805 54 N+1 vJ 680 136.0 38.0(677 674 44 S+1 &7 450 1285 455|375 376 3NO-1 *6 50 111.0 63.0
876 877 44 N+2 &K 680 136.0 38.0|703 771 44 N+1 ¢Q 450 1285 455(380 307 3NO-1 +4 50 111.0 63.0
203 211 54 N= ¢7 650 106.0 68.0|707 709 44 N+1 ¢Q 450 1285 455|402 470 44 O-1 ¢A 50 1110 63.0
210 204 54 N= #K 650 106.0 68.0(710 706 44 S+1 #7 450 128.5 45.5 (406 408 44 O-1 vA 50 111.0 63.0
277 274 54 N = ¢7 650 1060 68.0|774 779 44 N+1 &6 450 1285 455|410 404 44 O-1 vA 50 1110 63.0
307 309 44 N+1 7 650 106.0 68.0(802 872 44 S+1 &7 450 1285 455 (477 474 44 V-1 «A 50 111.0 63.0
402 472 54 N = #K 650 106.0 68.0(810 806 44 S+1 #7 450 1285 455479 472 44 O-1 vA 50 111.0 63.0
404 470 54 N= «K 650 106.0 68.0 (876 877 44 S+1 #7 450 1285 45.5 (501 573 44 O-1 46 50 111.0 63.0
510 504 44 N+1 7 650 106.0 68.0(273 278 3NN+1 #6 430 97.1 76.9|504 570 44 V-1 +J 50 111.0 63.0
577 574 44 N+1 &K 650 106.0 68.0(301 373 3NN+1 #6 430 97.1 76.9 [507 509 4 V-1 «A 50 111.0 63.0
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579 572 54 N= &8 650 106.0 68.0 311 305 3NN +1 v4 430 97.1 76.9|576 577 44 V-1 SA 50 111.0 63.0
601 671 44 N+1 ¢7 650 106.0 68.0 376 377 3NN +1 &8 430 97.1 76.9(578 575 2N O-1 +2 50 111.0 63.0
679 672 44 N+1 &K 650 106.0 68.0 (503 511 4NN= v5 430 97.1 76.9|601 673 44 V-1 vA 50 111.0 63.0
680 607 54 N= +5 650 106.0 68.0|573 578 3N N +1 &6 430 97.1 76.9|602 672 44 O-1 vA 50 111.0 63.0
801 873 44 N +1 ¢7 650 106.0 68.0|601 671 3NN +1 a7 430 97.1 76.9 (610 606 44 O-1 *4 50 111.0 63.0
802 872 44 N+1 &K 650 106.0 68.0 |606 608 3N N +1 &6 430 97.1 76.9|678 675 44 O-1 »6 50 111.0 63.0
880 808 44 N+1 &K 650 106.0 68.0|778 775 3NN +1 v7 430 97.1 76.9|703 711 44 O-1 vA 50 111.0 63.0
106 170 5¢ N+1 &K 620 86.0 88.0(780 708 3NN +1 v6 430 97.1 76.9 (709 705 2N O-1 &5 50 111.0 63.0
111 176 5¢ N+1 48 620 86.0 88.0(811 805 3NN +1 v7 430 97.1 76.9(710 704 3NO-1 &7 50 111.0 63.0
503 511 44 N= v3 620 86.0 88.0(102 174 44 S= &7 420 66.8 107.2 (801 871 44 V-1 SA 50 111.0 63.0
609 605 5¢ N+1 &5 620 86.0 88.0(108 179 44 S= v3 420 66.8 107.2 |877 874 3N O -1 &3 50 111.0 63.0
677 674 5¢ N+1 &K 620 86.0 88.0(109 178 44 S= &7 420 66.8 107.2 (879 872 44 V-1 &A 50 111.0 63.0
102 174 5¢ N= 48 600 75.0 99.0 (111 176 44 S= &7 420 66.8 107.2 |880 807 2N O -1 &5 50 111.0 63.0
407 409 5¢ N= 48 600 75.0 99.0 (180 107 44 S= &7 420 66.8 107.2 |109 179 24 V= &A  -110 73.0 101.0
476 477 5¢ N= &K 600 75.0 99.0 (209 205 44 S= &7 420 66.8 107.2 |301 371 24 V= &A  -110 73.0 101.0
610 604 5¢ N= &K 600 75.0 99.0 (374 379 44 S= &7 420 66.8 107.2 |302 370 24 V= &A  -110 73.0 101.0
710 706 5¢ N= 48 600 75.0 99.0 (380 308 44 S= &7 420 66.8 107.2 |511 505 24 V= &A  -110 73.0 101.0
804 870 5¢ N= &K 600 75.0 99.0 (407 409 44 S= &7 420 66.8 107.2 |574 579 24 V= *J -110 73.0 101.0
206 208 24 N +4 +3 230 68.0 106.0 [577 574 44 S= v3 420 66.8 107.2 (873 878 24 V= *J -110 73.0 101.0
378 375 64D O-1 vA 200 63.0 111.0 [679 672 44 N= vA 420 66.8 107.2 [475 476 INO+1 3 -120 65.0 109.0
403 471 64D O-1 ¢K 200 63.0 111.0 ({680 607 44 S= v5 420 66.8 107.2 |773 778 2N O = »6 -120 65.0 109.0
502 570 64D O-1 45 200 63.0 111.0 (701 773 44 S= &7 420 66.8 107.2 (111 177 24 V +1 *J -140 54.0 120.0
776 777 64D O-1 ¢5 200 63.0 111.0 (704 770 44 S= &7 420 66.8 107.2 (174 104 14 V +2 &#A  -140 54.0 120.0
109 178 4¢ N+2 &K 170 56.0 118.0 (776 777 44 S= &7 420 66.8 107.2 (207 209 24 O+1 &5 -140 54.0 120.0
401 473 3¢ N+3 48 170 56.0 118.0 (801 873 44 S= &7 420 66.8 107.2 (210 206 24 O+1 #A  -140 54.0 120.0
675 676 4¢ N+2 &K 170 56.0 118.0 (807 809 44 S= &7 420 66.8 107.2 (280 208 24 V +1 &#A  -140 54.0 120.0
573 578 3¢ N+2 48 150 51.0 123.0 (878 875 44 S= &2 420 66.8 107.2 |480 407 34 V= &#A  -140 54.0 120.0
703 771 4¢ N+1 &K 150 51.0 123.0 (880 808 44 S = &7 420 66.8 107.2 |603 671 24 V +1 &A  -140 54.0 120.0
202 270 6# O -1 vA 100 46.0 128.0 ({173 103 3NN = v4 400 42,5 1315|777 774 24 V +1 &#A  -140 54.0 120.0
580 507 6# O -1 vA 100 46.0 128.0 (478 475 3NN = v4 400 425 1315|779 772 34 V= &#A  -140 54.0 120.0
704 770 64 V-1 vA 100 46.0 128.0 (480 408 3NN = v4 400 425 1315|377 374 2NO+1 ¢5 -150 41.0 133.0
175 101 4¢ N-1 48 -100 38.0 136.0 (579 572 3NN= v7 400 425 1315 (473 478 2NO+1 ¢2 -150 41.0 133.0
209 205 4v S-1 &3 -100 38.0 136.0 (610 604 3NN = v3 400 425 1315|510 506 2N O +1 ¢4 -150 41.0 133.0
374 379 4v S-1 &#A  -100 38.0 136.0 (602 670 5vDV-2 «Q 300 36.4 137.6 (611 605 2NO+1 ¢4 -150 41.0 133.0
380 308 5¢ N-1 &K  -100 38.0 136.0 (104 172 24 S+3 &7 200 33.4 140.6 |502 572 24 V +2 vT -170 35.0 139.0
803 871 4v S-1 #A  -100 38.0 136.0 (580 507 34 S +2 &7 200 33.4 140.6 |875 876 24 V +2 &A -170 35.0 139.0
606 608 44 O+1 ¢K -150 32.0 142.0|175 101 24 S +2 &7 170 29.3 144.7 |1303 311 3NO= &7 -400 26.0 148.0
273 278 5v S-2 a4 -200 28.0 146.0 [675 676 34 S +1 &7 170 29.3 144.7 (309 305 3N O = *4 -400 26.0 148.0
480 408 44 N -2 &K -200 28.0 146.0 (201 271 44 S-1 &7 -50 19.2 154.8 (310 304 3N O = +3 -400 26.0 148.0
807 809 4v S-2 +2 -200 28.0 146.0 (275 276 64 S-1 +2 -50 19.2 154.8 (503 571 3N O = +5 -400 26.0 148.0
108 179 54 N-3 &K  -300 21.0 153.0(378 375 54 S-1 &7 -50 19.2 154.8 (580 508 3N O = +2 -400 26.0 148.0
110 177 6v N-3 4A  -300 21.0 153.0 (404 470 44 S-1 &7 -50 19.2 154.8 (775 776 3NO = +5 -400 26.0 148.0
180 107 6v S-3 &A  -300 21.0 153.0 (476 477 44 S-1 &7 -50 19.2 154.8 |806 808 3N O = +2 -400 26.0 148.0
707 709 54 N -3 &K  -300 21.0 153.0 (575 576 44 S-1 &7 -50 19.2 154.8 |110 178 4& V= +*J -420 13.0 161.0
104 172 5# O = vA -600 14.0 160.0|673 678 64 S-1 +6 -50 19.2 154.8 |201 273 44 V= &A  -420 13.0 161.0
105 171 5# O = a7 -600 14.0 160.0 804 870 54 S-1 v5 -50 19.2 154.8 [674 679 44 V= &A  -420 13.0 161.0
280 207 5 O = vA -600 14.0 160.0|203 211 64 S-2 &7 -100 8.1 165.9 |701 771 44 O = vA -420 13.0 161.0
301 373 54DV=vQ -750 5.0 169.0 |310 306 64 S -2 &7 -100 8.1 165.9 {802 870 44 O= vA -420 13.0 161.0
302 372 54D O = 46 -750 5.0 169.0 |506 508 44 N -2 &7 -100 8.1 165.9 |810 804 44 V= &A  -420 13.0 161.0
303 371 54D O = a7 -750 5.0 169.0 (711 705 5¢ N-3 vA  -150 4.1 169.9 (607 609 3NO+1 ¢4 -430 6.0 168.0
310 306 54D O = +¢5 -750 5.0 169.0 210 204 4vDV= «Q -590 2.0 172.0|604 670 44 O+1 vA  -450 3.0 171.0
506 508 54D O= vA -750 5.0 169.0 (302 372 3vDV+1l «Q -630 0.0 174.0 |676 677 44 O+1 vA  -450 3.0 171.0
673 678 54D O = 5 -750 5.0 169.0 |803 871 A-/A- 69.6 69.6 (702 770 2¢DS-2 45 -500 0.0 174.0
16 & D42 Basta kontrakt 17 4 Kn63 Basta kontrakt 18 4« ED10854 Basta kontrakt
Vast v K10754 34« ND-1-100 Nord v EK1052 5v N =450 Ost v 82 6v O =-980
ov + K105 Ingen + D85 NS * K2
#106 & ¢ v o NT *73 & ¢ v o NT #K32 & ¢ v & NT
4 Kn953 41087 N85756 49874 &« EKD105 N 7 10115 7 46 49 N21161
v Kn86 vED2 S8575686 v976 v4 S 7 10115 7 vE54 v KDKn93 S21161
¢ EDKN72 ¢ 964 O5 86 87 +973 ¢ Knl04 06 228 4 ¢ DKn1064 ¢ E983 O 1112127 7
&3 &ED95 V58677 #E95 &D1064 V622384 #Kn985 &ED6 V 1112127 7
» EKG a2 & KKn732
v93 v DKn83 v 1076
+83 + EK62 *75
#KKn8742 #KKn82 #1074
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
879 872 2N O -3 v9 300 174.0 0.0 404 474 44DO-3 vQ 500 171.0 3.0(180 109 4v O-1 46 50 1740 0.0
410 404 3¢ V-2 &T 200 171.0 3.0|680 609 44DO-3 ¢K 500 171.0 3.0(280 209 3¢ V+1 &2 -130 1720 2.0
709 705 24 V-2 &T 200 171.0 3.0|770 708 44D O-3 ¢A 500 171.0 3.0|204 272 44 N-2 vK -200 168.0 6.0
180 108 24DS= ¢A 180 167.0 7.0|878 879 54D O-3 vQ 500 171.0 3.0|370 308 34 N-2 v6 -200 168.0 6.0
402 470 24DS= 43 180 167.0 7.0|104 101 4y N+1 &A 450 143.0 31.0(611 607 3y O+2 48 -200 168.0 6.0
674 679 2v N+1 ¢4 140 163.0 11.0(171 176 4y N+1 &A 450 143.0 31.0|403 475 3vy O+4 ¢7 -260 163.0 11.0
775 776 2y N+1 &7 140 163.0 11.0(180 109 4y N+1 &A 450 143.0 31.0|502 574 3y O+4 7 -260 163.0 11.0
204 270 2y N= ¢6 110 150.0 24.0|204 272 4y N+1 &A 450 143.0 31.0|175 105 34 N-3 vK -300 155.0 19.0
280 208 1v N +1 ¢6 110 150.0 24.0|205 271 4y N+1 &A 450 143.0 31.0|301 377 44 N-3 vK -300 155.0 19.0
303 311 24 S +1 45 110 150.0 24.0|277 278 5v N = aA 450 143.0 31.0|470 408 44 N-3 vK -300 155.0 19.0
375 376 2y N= +9 110 150.0 24.0|279 276 4y N+1 &A 450 143.0 31.0|471 407 44 N-3 vK -300 155.0 19.0
379 372 2y N= ¢6 110 150.0 24.0|309 311 4y N+1 &A 450 143.0 31.0|604 672 44 N-3 vK -300 155.0 19.0
501 573 1v N+1 +9 110 150.0 24.0|401 477 4v N+1 &A 450 143.0 31.0|805 873 44 N-3 vK -300 155.0 19.0
507 509 2v N= ¢4 110 150.0 24.0 409 411 4y N+1 &A 450 143.0 31.0|801 877 44 N-4 vK  -400 148.0 26.0
576 577 2y N= +9 110 150.0 24.0|471 407 4y N+1 aA 450 143.0 31.0|104 101 5¢ V+1 4A  -420 141.0 33.0
602 672 2y N= T 110 150.0 24.0|503 573 4y N+1 &A 450 143.0 31.0|107 173 5¢ V +1 aA  -420 141.0 33.0
803 811 1v N+1 ¢6 110 150.0 24.0|570 506 4y N+1 &K 450 143.0 31.0|505 571 4y O= a7 -420 141.0 33.0
810 804 2v N = ¢4 110 150.0 24.0|579 576 5v N= aA 450 143.0 31.0|579 576 5¢ V +1 4A  -420 141.0 33.0
101 102 2N O-1 A 100 127.0 47.0|704 774 49y N+1 &K 450 143.0 31.0|677 678 4y O= a2 -420 141.0 33.0
106 172 3¢ V-1 v5 100 127.0 47.0|709 711 4y N+1 &5 450 143.0 31.0|870 808 5¢ V +1 aA  -420 141.0 33.0
174 104 34 V-1 T 100 127.0 47.0|778 779 4y N+1 aA 450 143.0 31.0|205 271 4y O+1 &2 -450 116.0 58.0
202 272 2¢ V-1 T 100 127.0 47.0|780 710 4v N+1 &A 450 143.0 31.0|277 278 4y O+1 &2 -450 116.0 58.0
373 378 2NO -1 A 100 127.0 47.0|801 877 4y N+1 &A 450 143.0 31.0(279 276 4y O+1 a2 -450 116.0 58.0
380 307 2N O -1 &7 100 127.0 47.0(803 875 4v N+1 sA 450 143.0 31.0|305 373 4y O+1 43 -450 116.0 58.0
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504 570 3¢ O-1 A 100 127.0 47.0(805 873 4y N+1 A 450 143.0 31.0(404 474 4v O+1 v6  -450 116.0 58.0
773 778 INO-1 v9 100 127.0 47.0|806 872 4v N+1 &K 450 143.0 31.0|405 473 4v O+1 4K -450 116.0 58.0
779 772 INO-1 v9 100 127.0 47.0|870 808 4v N+1 «A 450 143.0 31.0|406 472 4v O+1 43  -450 116.0 58.0
780 707 3¢ V-1 T 100 127.0 47.0(876 802 4v N+1 A 450 143.0 31.0(503 573 4v O+1 ] -450 116.0 58.0
801 871 2¢ V-1 T 100 127.0 47.0(170 177 4v N= A 420 102.0 72.0(575501 4v O+1 &7 -450 116.0 58.0
880 807 24 V-1 v4 100 127.0 47.0(275 201 4v N= A 420 102.0 72.0(577 578 4v O+1 43  -450 116.0 58.0
578 575 2# S = ¢A 90 111.0 63.0(280 209 4v N = aA 420 102.0 72.0(602 674 4v O+1 42  -450 116.0 58.0
580 508 2# S = 43 90 111.0 63.0 (301 377 4v N= A 420 102.0 72.0(608 610 4v O+1 &K -450 116.0 58.0
607 609 2& S = v6 90 111.0 63.0 (304 374 4y N= A 420 102.0 72.0(670 606 5v O = ¢7 -450 116.0 58.0
877 874 24 S = a5 90 111.0 63.0 (305 373 4v N= aA 420 102.0 72.0(705 773 4v O+1 42  -450 116.0 58.0
105 173 Pass 105.0 69.0 (376 302 4v N = 42 420 102.0 72.0(709 711 5v O = K  -450 116.0 58.0
309 305 Pass 105.0 69.0 (380 310 4v N= A 420 102.0 72.0(770 708 4v O+1 42  -450 116.0 58.0
103 175 34 N-1 *A -50 89.0 85.0 (405 473 4v N= aA 420 102.0 72.0(780 710 4v V+1 4A -450 116.0 58.0
110 178 3# S-1 v6 -50 89.0 85.0 (406 472 4v N = A 420 102.0 72.0(809 811 4v O+1 42  -450 116.0 58.0
170 176 3+ S-1 5 -50 89.0 85.0(478 479 4v N= A 420 102.0 72.0(871 807 4v O+1 42  -450 116.0 58.0
210 206 2v S-1 3 -50 89.0 85.0 (508 510 4v N = A 420 102.0 72.0(108 172 4v O+2 42  -480 59.0 115.0
406 408 3% S-1 43 -50 89.0 85.0 (611 607 4v N = ¢6 420 102.0 72.0(110 179 4y O+2 42  -480 59.0 115.0
473 478 INS-1 3 -50 89.0 85.0(677 678 4y N= A 420 102.0 72.0(111 178 4v O+2 42  -480 59.0 115.0
502 572 2v N-1 *4 -50 89.0 85.0(703 775 4v N= aA 420 102.0 72.0(170 177 4v O+2 42  -480 59.0 115.0
510 506 3# S-1 45 -50 89.0 85.0(705 773 4v N= A 420 102.0 72.0(202 274 4v O+2 42  -480 59.0 115.0
574 579 2v N-1 +4 -50 89.0 85.0(871 807 4v N= A 420 102.0 72.0(203 273 4v O+2 &K -480 59.0 115.0
611 605 3% S-1 46 -50 89.0 85.0(110 179 44D O-2 ¢A 300 79.0 950208 210 4y O+2 42  -480 59.0 115.0
676 677 2v N-1 *4 -50 89.0 85.0(203 273 44D O-2 ¢A 300 79.0 950 (211 207 4v O+2 2 -480 59.0 115.0
703 711 3#S-1 5 -50 89.0 85.0(303 375 44DO-2 +K 300 79.0 95.0(270 206 4y O+2 42  -480 59.0 115.0
710 704 2v N-1 +9 -50 89.0 85.0(370 308 44D O-2 vQ 300 79.0 950275 201 4v O+2 2  -480 59.0 115.0
875 876 34 S-1 45 -50 89.0 85.0(511 507 44D O-2 ¢A 300 79.0 95.0(303 375 4v O+2 5 -480 59.0 115.0
207 209 INO= v8 -90 68.0 106.0 (603 673 44DO-2 ¢A 300 79.0 95.0(304 374 4v O+2 42  -480 59.0 115.0
306 308 2¢ O= LY -90 68.0 106.0 (378 379 3y N+2 «A 200 67.0 107.0 (371 307 5v O+1 42  -480 59.0 115.0
401 471 INO= & A -90 68.0 106.0 (480 410 3v N+2 &K 200 67.0 107.0 (376 302 4y O+2 42  -480 59.0 115.0
409 405 2¢ V= &T -90 68.0 106.0 (580 509 3v N+2 «A 200 67.0 107.0 (378 379 5v O+1 42  -480 59.0 115.0
480 407 INO= *4 -90 68.0 106.0 (608 610 3y N+2 4K 200 67.0 107.0 (380 310 4v O+2 «K -480 59.0 115.0
678 675 2¢ V= *6 -90 68.0 106.0 (679 676 2v N+3 &4A 200 67.0 107.0 (401 477 4v O+2 &K -480 59.0 115.0
702 770 2¢ V= &T -90 68.0 106.0 (880 810 3v N+2 A 200 67.0 107.0 (409 411 4v O+2 42  -480 59.0 115.0
111 177 3#DS-1 v5 -100 58.0 116.0(102 103 3v N+1 4K 170 54.0 120.0 |478 479 4y O+2 ¢7  -480 59.0 115.0
203 271 3#S-2 5 -100 58.0 116.0 (108 172 3v N+1 &A 170 54.0 120.0 |480 410 4v O+2 42  -480 59.0 115.0
511 505 24 N-2 ¢9 -100 58.0 116.0 (111 178 3v N+1 4A 170 54.0 120.0 |504 572 4v O+2 &7  -480 59.0 115.0
211 205 2¢ O+1 7 -110 44.0 130.0(175 105 3v N+1 «A 170 54.0 120.0 |508 510 4y O+2 4K -480 59.0 115.0
274 279 3¢ O = v3 -110 44.0 130.0(306 372 3vy N+1 &A 170 54.0 120.0 (511 507 4v O+2 42  -480 59.0 115.0
276 277 24 V= T -110 44.0 130.0 (504 572 3v N+1 A 170 54.0 120.0 |570 506 4v O+2 &K -480 59.0 115.0
278 275 3¢ O = v9 -110 44.0 130.0(605 671 3y N+1 «A 170 54.0 120.0 |603 673 4y O+2 42  -480 59.0 115.0
477 474 3¢ O = T -110 44.0 130.0 (107 173 54 O -3 ¢K 150 45.0 129.0 (605 671 4v O+2 43  -480 59.0 115.0
601 673 24 V= T  -110 44.0 130.0 (371 307 4« O-3 ¢A 150 45.0 129.0 (675 601 4v O+2 &K -480 59.0 115.0
604 670 3¢ V= T  -110 44.0 130.0 (106 174 44 O -2 vQ 100 34.0 140.0|679 676 5v O+1 42  -480 59.0 115.0
777 774 2¢ O+1 4K  -110 44.0 130.0 (211 207 44 O -2 vQ 100 34.0 140.0 |680 609 4y O+2 4K -480 59.0 115.0
802 870 24 V= T  -110 44.0 130.0 (270 206 44 O -2 ¢A 100 34.0 140.0|701 777 4v O+2 42  -480 59.0 115.0
806 808 2& V= v4  -110 44.0 130.0|577 578 4e V-2 ¢K 100 34.0 140.0|703 775 4y O+2 42  -480 59.0 115.0
873 878 3¢ V= T -110 44.0 130.0 (602 674 44 O-2 vQ 100 34.0 140.0 (704 774 4v O+2 42  -480 59.0 115.0
107 171 2N O = «7 -120 21.0 153.0 (604 672 44D O-1 vQ 100 34.0 140.0 |771 707 4v O+2 &K -480 59.0 115.0
201 273 INO+1 #A -120 21.0 153.0 (701 777 44 O -2 ¢A 100 34.0 140.0|778 779 4v O+2 4K -480 59.0 115.0
302 370 INO+1 #6 -120 21.0 153.0 (706 772 44 O -2 ¢A 100 34.0 140.0 |803 875 44 O+2 42  -480 59.0 115.0
310 304 INO+1 v9 -120 21.0 153.0 (771 707 34 O-2 «8 100 34.0 140.0 |804 874 4v O+2 4K -480 59.0 115.0
377 374 INO+1 v9  -120 21.0 153.0 |403 475 44 O-1 ¢K 50 19.0 155.0 (806 872 S5y O+1 42  -480 59.0 115.0
403 411 2NO = &7  -120 21.0 153.0 (470 408 34 O-1 ¢A 50 19.0 155.0 (880 810 5v O+1 42  -480 59.0 115.0
479 472 INO+1 «A -120 21.0 153.0|670 606 34 O-1 vQ 50 19.0 155.0 (102 103 4v O+3 7 -510 17.0 157.0
603 671 INO+1 #A -120 21.0 153.0 (675 601 34 O-1 ¢A 50 19.0 155.0 (306 372 4y O+3 #4  -510 17.0 157.0
610 606 INO+1 &7  -120 21.0 153.0 (776 702 34 O-1 ¢K 50 19.0 155.0 (476 402 4v O+3 #7 -510 17.0 157.0
680 608 INO+1 &7  -120 21.0 153.0 (809 811 24 O-1 ¢A 50 19.0 155.0 (706 772 4v O+3 7 -510 17.0 157.0
701 771 INO+1 &4  -120 21.0 153.0 (575 501 5v N-1 LY -50 12.0 162.0 (106 174 5¢DV= &4A -550 12.0 162.0
809 805 INO+1 #7  -120 21.0 153.0 (202 274 5vDN-1 A -100 10.0 164.0 (309 311 44DN-3 vK -800 8.0 166.0
301 371 24 V+1 v4  -140 8.0 166.0 (208 210 34 O = ¢A  -140 5.0 169.0 (876 802 44DN-3 vK  -800 8.0 166.0
475 476 INV+2 &K  -150 4.0 170.0 [476 402 24 O+1 3  -140 5.0 169.0|878 879 44DN-3 v6  -800 8.0 166.0
503 571 INO+2 ¢3 -150 4.0 170.0 (502 574 34 O = ¢A  -140 5.0 169.0|171 176 6¢ V= A -920 4.0 170.0
706 708 INO+2 #3  -150 4.0 170.0 [505 571 34 O= ¢A  -140 5.0 169.0 (776 702 6v O = 42  -980 2.0 172.0
109 179 INO+3 7  -180 0.0 174.0|804 874 24DO= ¢A -470 0.0 174.0|580 509 44DN-4 K -1100 0.0 174.0
19 » EK65 Basta kontrakt 20 # KKn876 Basta kontrakt 21 #1073 Basta kontrakt
Syd v 1095 4¢ SD-1-100 Vast vD3 3V =-110 Nord vE76 34 N =140
oV ¢ EKn2 Alla + Kn76 NS + D10964
#Kn82 & ¢ v o NT #Kn72 & ¢ v o NT #Kn6 & ¢ v o NT
4974 «Kn108 N3 9 474 4532 «E104 N48567 D654 4E8 N8 9 7 9 8
vEKn32 vKD874 S39474 v642  vEKn987 S48567 v DKn v 108432 S$89798
¢+ K3 ¢D 093948 ¢E105 ¢2 095876 ¢ KKn73 ¢85 0546 44
#ED109 #K653 V93948 #ED6G5 #9843 V95876 *K87 #10543 V54644
D32 «D9 & KKn92
v6 v K105 v K95
¢ 10987654 + KD9843 ¢E2
*74 #K10 #ED92
Par Kontr Ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
503 575 44DN= 5 590 1740 0.0|206 272 3NS= v6 600 1740 0.0|204 276 3NS= ¢3 600 1730 1.0
105 102 4v O -2 7 200 168.0 6.0(708 710 3vDO-2 «Q 500 1720 20(672 608 3NS= 5 600 173.0 1.0
108 174 5v O -2 ¢T 200 168.0 6.0(777 778 4y O-2 ¢K 200 169.0 5.0(502 578 2¢ O-4 ¢A 200 169.0 5.0
204 274 5v O -2 ¢T 200 168.0 6.0|779 776 3v O-2 ¢K 200 169.0 5.0|679 601 24 V-4 «J 200 169.0 50
271 207 5v O -2 ¢T 200 168.0 6.0|107 175 24 N+1 vA 140 1660 8.0|602 678 INS+3 ¢7 180 166.0 8.0
770 706 5v V-2 A 200 168.0 6.0(375301 2¢ S+2 42 130 161.0 13.0(106 103 INS+2 44 150 148.0 26.0
171 177 4¢ S= vA 130 1620 12.0|576 502 3¢ S+1 v6 130 161.0 13.0|180 111 INS+2 46 150 148.0 26.0
101 106 4v V-1 ¢A 100 1220 52.0|775 701 2¢ S+2 45 130 161.0 13.0|272 208 INS+2 ¢3 150 148.0 26.0
109 173 4v V-1 A 100 122.0 52.0(802 874 2¢ S+2 v6 130 161.0 13.0(303 379 INS+2 44 150 148.0 26.0
111 179 4v V-1 A 100 122.0 52.0(103 104 INS+1 6 120 155.0 19.0305 377 INS+2 ¢7 150 148.0 26.0
201 277 4v V-1 A 100 122.0 52.0(671 607 INS+1 5 120 155.0 19.0(307 375 INS+2 ¢3 150 148.0 26.0
205 273 4v V-1 A 100 122.0 52.0(105 102 3¢ S= v6 110 140.0 34.0(311 371 INS+2 45 150 1480 26.0
206 272 4v V-1 A 100 122.0 52.0(180 110 2¢ S+1 v2 110 140.0 34.0|372 310 INS+2 46 150 148.0 26.0
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209 211 4v O-1 ¢2 100 1220 52.0|276 202 3¢ S= «5 110 140.0 34.0(380 370 INS+2 ¢3 150 148.0 26.0
276 202 4v V-1 A 100 122.0 52.0(278 279 2¢ S+1 42 110 140.0 34.0406 476 INS+2 ¢7 150 148.0 26.0
303 373 4v O-1 ¢9 100 1220 52.0|403 473 2¢ S+1 &A 110 140.0 34.0|411 471 INS+2 ¢3 150 148.0 26.0
304 372 4v V-1 A 100 122.0 52.0(479 476 3¢ S= 6 110 140.0 34.0 (504 576 24 V-3 «J 150 148.0 26.0
308 310 4v V-1 K 100 122.0 52.0(504 574 3¢ S= v2 110 140.0 34.0|571 509 INS+2 vQ 150 148.0 26.0
375 301 4v V-1 A 100 122.0 52.0(509 511 2¢ S+1 #A 110 140.0 34.0|605 675 INS+2 &7 150 148.0 26.0
403 473 4v O-1 42 100 122.0 52.0(604 674 3¢ S= v4 110 140.0 340(711 771 INS+2 7 150 1480 26.0
405 471 4v V-1 A 100 122.0 52.0(605 673 2¢ S+1 #A 110 140.0 34.0|872 810 INS+2 44 150 148.0 26.0
408 410 4v V-1 A 100 122.0 52.0(606 672 2¢ S+1 4«5 110 140.0 34.0|878 804 INS+2 44 150 148.0 26.0
411 407 4v V-1 A 100 122.0 52.0(705 771 3¢ S= v2 110 140.0 34.0(102 107 INS+1 44 120 89.0 85.0
470 406 4v V-1 A 100 122.0 52.0(880 809 3¢ S= v2 110 140.0 34.0(109 175 INS+1 ¢3 120 89.0 85.0
479 476 4v V-1 A 100 122.0 52.0(108 174 3v O-1 «Q 100 119.0 55.0(110 174 INS+1 44 120 89.0 85.0
480 409 4v V-1 A 100 122.0 52.0(302 374 3v O-1 «Q 100 119.0 55.0(170 179 INS+1 vQ 120 89.0 85.0
504 574 4y O-1 #7 100 122.0 52.0(311 307 3v O-1 «Q 100 119.0 55.0(171 178 INS+1 45 120 89.0 85.0
505 573 4v V-1 «K 100 122.0 52.0(601 677 3v O-1 ¢K 100 119.0 55.0(172 177 INS+1 vQ 120 89.0 85.0
506 572 4v V-1 «K 100 122.0 52.0(670 608 3v O-1 ¢K 100 119.0 55.0(205 275 2N S= «4 120 89.0 85.0
509 511 4v V-1 A 100 122.0 52.0(676 602 3v O-1 «Q 100 119.0 55.0(206 274 INS+1 &5 120 89.0 85.0
580 510 4v V-1 A 100 122.0 52.0(711 707 3% V-1 ¢6 100 119.0 55.0(207 273 INS+1 44 120 89.0 85.0
603 675 4v V-1 A 100 122.0 52.0(780 709 3v O-1 ¢K 100 119.0 55.0)|210 270 INS+1 44 120 89.0 85.0
606 672 4v V-1 4K 100 122.0 52.0(170 178 INS= *6 90 93.0 81.0(279 201 INS+1 46 120 89.0 85.0
609 611 4y O-1 42 100 122.0 52.0(270 208 2¢ S= «A 90 93.0 81.0(280 211 INS+1 45 120 89.0 85.0
670 608 4v V-1 A 100 122.0 52.0(303 373 2¢ N= &5 90 93.0 81.0(301 302 INS+1 ¢3 120 89.0 85.0
676 602 4v O-1 42 100 122.0 52.0(308 310 2¢ S= v2 90 93.0 81.0(308 374 INS+1 ¢7 120 89.0 85.0
678 679 4v V-1 ¢A 100 1220 52.0|370 306 2¢ S= *6 90 93.0 81.0(378 304 INS+1 ¢7 120 89.0 85.0
703 773 4v V-1 A 100 122.0 52.0(377 378 2¢ S= a2 90 93.0 81.0(403 479 INS+1 &5 120 89.0 85.0
711 707 4y O-1 ¢T 100 122.0 52.0|380 309 2¢ S= v6 90 93.0 81.0 (405 477 INS+1 44 120 89.0 85.0
779 776 4v V-1 A 100 122.0 52.0 (411 407 2¢ S= v6 90 93.0 81.0(408 474 INS+1 vQ 120 89.0 85.0
780 709 4v V-1 A 100 122.0 52.0(470 406 2¢ S= v2 90 93.0 81.0(472 410 INS+1 ¢3 120 89.0 85.0
803 873 4v O-1 ¢T 100 122.0 52.0|475 401 2¢ S= v2 90 93.0 81.0(478 404 INS+1 44 120 89.0 85.0
805 871 4v V-1 A 100 122.0 52.0(503 575 INN= v7 90 93.0 81.0(480 470 INS+1 44 120 89.0 85.0
808 810 4v V-1 ¢A 100 1220 52.0|505 573 2¢ S= a5 90 93.0 81.0(507 573 INS+1 ¢7 120 89.0 85.0
811 807 4v O-1 42 100 122.0 52.0(680 610 2¢ S= v6 90 93.0 81.0(572 508 INS+1 44 120 89.0 85.0
870 806 44 V-1 A 100 122.0 52.0(703 773 2¢ S= v6 90 93.0 81.0|579 501 INS+1 44 120 89.0 85.0
377 378 5¢ S-1 49 -50 81.0 93.0(770 706 INS= *6 90 93.0 81.0(580 511 INS+1 ¢7 120 89.0 85.0
578 579 5¢ S-1 vA -50 81.0 93.0 (870 806 2¢ S= +6 90 93.0 81.0(604 676 INS+1 &5 120 89.0 85.0
180 110 5¢DS-1 vA -100 70.0 104.0 (875 801 2¢ S= v6 90 93.0 81.0(606 674 INS+1 45 120 89.0 85.0
203 275 5¢ S-2 v2 -100 70.0 104.0|879 876 2¢ S= v2 90 93.0 81.0(607 673 INS+1 ¢3 120 89.0 85.0
379 376 5¢DS-1 vA -100 70.0 104.0 (101 106 3¢ S-1 v4  -100 620 112.0|671 609 INS+1 45 120 89.0 85.0
402 474 5¢DS-1 vA -100 70.0 104.0|171 177 3¢ S-1 v2 -100 620 112.0|680 611 INS+1 44 120 89.0 85.0
671 607 5¢DS-1 vA -100 70.0 104.0(172 176 3¢ S-1 v4  -100 620 112.0|701 702 INS+1 44 120 89.0 85.0
708 710 5¢ S-2 v2 -100 70.0 104.0|205 273 3¢ S-1 v4  -100 62.0 112.0|703 779 2N S = vQ 120 89.0 85.0
775 701 5¢ S-2 v3 -100 70.0 104.0|305 371 3¢ S-1 v4  -100 62.0 112.0(706 776 INS+1 44 120 89.0 85.0
777 778 5¢DS-1 vA -100 70.0 104.0 (379 376 3¢ S-1 v2 -100 620 112.0|708 774 INS+1 vQ 120 89.0 85.0
875 801 5¢DS-1 vA -100 70.0 104.0 (404 472 34 S-1 v6 -100 62.0 112.0|772 710 INS+1 ¢3 120 89.0 85.0
270 208 3& V= A -110 60.0 114.0 (578 579 3¢ S-1 v6 -100 62.0 112.0(773 709 INS+1 44 120 89.0 85.0
103 104 3v O = ¢T  -140 49.0 125.0|580 510 3¢ S-1 v2 -100 62.0 1120(778 704 INS+1 ¢3 120 89.0 85.0
370 306 3v O= ¢T -140 49.0 125.0|678 679 2¢ S-1 v6  -100 62.0 112.0(805 877 INS+1 44 120 89.0 85.0
380 309 2¢v O+1 T  -140 49.0 125.0 (803 873 3¢ S-1 v6 -100 62.0 112.0|807 875 INS+1 44 120 89.0 85.0
477 478 3v V= A -140 49.0 125.0 (804 872 4¢ N-1 v6 -100 62.0 112.0(808 874 INS+1 45 120 89.0 85.0
570 508 2v O+1 42  -140 49.0 125.0 (808 810 3¢ S-1 v2 -100 620 112.0|811 871 INS+1 44 120 89.0 85.0
604 674 3y V= A -140 49.0 125.0 (109 173 24 O = 9 -110 41.0 133.0(880 870 INS+1 44 120 89.0 85.0
704 772 3y V= A -140 49.0 125.0 (201 277 2v O = «Q -110 41.0 133.0 (271 209 2v O -2 ¢A 100 45.0 129.0
802 874 3v O= #7  -140 49.0 125.0 (271 207 2v O = «Q -110 41.0 133.0 (505 575 2v O-2 ¢A 100 45.0 129.0
879 876 3v O = 42  -140 49.0 125.0 (402 474 2v O = ¢K -110 41.0 133.0(202 278 INS= +3 90 33.0 141.0
880 809 3v V= A -140 49.0 125.0 (408 410 2v O = «Q -110 41.0 133.0(373 309 INS= a4 90 33.0 141.0
107 175 2v» O+2 +9 -170 35.0 139.0 (603 675 2v O = ¢K -110 41.0 133.0 (407 475 INS= ¢3 90 33.0 141.0
404 472 2v O+2 T -170 35.0 139.0|609 611 3# V= ¢6 -110 41.0 133.0|506 574 INS= 5 90 33.0 141.0
501 577 2¢y O+2 &7 -170 35.0 139.0 (811 807 2v O = «Q -110 41.0 133.0(577 503 INS= a4 90 33.0 141.0
705 771 29y O+2 &7  -170 35.0 139.0 (280 210 3v O = T  -140 32.0 142.0 (677 603 INS= a4 90 33.0 141.0
172 176 5¢DS-2 vA -300 26.0 148.0 (203 275 4¢ S -2 v4  -200 26.0 148.0|705 777 INS= vQ 90 33.0 141.0
278 279 5¢DS-2 vA -300 26.0 148.0|304 372 3¢DS-1 ¥4 -200 26.0 148.0|801 802 INS-= a4 90 33.0 141.0
571 507 5¢DS-2 vA -300 26.0 148.0 (405 471 24 N-2 ¢2 -200 26.0 148.0 (806 876 INS = vQ 90 33.0 141.0
576 502 5¢DS-2 vA -300 26.0 148.0 (480 409 3¢ S-2 v4  -200 26.0 148.0|873 809 2¢ N= +8 90 33.0 141.0
702 774 5¢DS-2 vA -300 26.0 148.0|877 878 3NS-2 v4 200 26.0 148.0|108 101 INS-1 vQ -100 13.0 161.0
170 178 4v V= A -620 10.0 164.0 (209 211 34 N-3 ¢2 -300 14.0 160.0|277 203 3NS-1 vQ -100 13.0 161.0
280 210 4y V= A -620 10.0 164.0 (477 478 34 N-3 ¢2 -300 14.0 160.0|306 376 2N S-1 vQ -100 13.0 161.0
302 374 4v O= ¢T -620 10.0 164.0 501 577 34 N-3 ¢2 -300 14.0 160.0|401 402 INS-1 «4  -100 13.0 161.0
305 371 4v O = ¢T -620 10.0 164.0|506 572 34 N-3 ¢2 -300 14.0 160.0|473 409 3NN-1 v6 -100 13.0 161.0
311 307 4v O= ¢5 -620 10.0 164.0|570 508 34 N -3 ¢2 -300 14.0 160.0|510 570 3NS-1 vQ -100 13.0 161.0
475 401 4v V= ¢A -620 10.0 164.0|702 774 3N S -3 6 -300 14.0 160.0 (610 670 3NS-1 «4  -100 13.0 161.0
601 677 4y O = ¢6 -620 10.0 164.0|704 772 34 N-3 ¢2 -300 14.0 160.0|707 775 3NN-1 v3 -100 13.0 161.0
605 673 4y O = ¢7 -620 10.0 164.0|111 179 44 N-4 ¢3  -400 5.0 169.0|780 770 2N S-1 vQ -100 13.0 161.0
680 610 4y O = «Q -620 10.0 164.0 (204 274 44 N-4 ¢2  -400 5.0 169.0 (803 879 3¢ N-1 v8 -100 13.0 161.0
804 872 4v O = «Q -620 10.0 164.0 (571 507 4¢DS-2 v2  -500 1.0 173.0|104 105 INS-2 vQ -200 2.0 172.0
877 878 4v O = ¢T -620 10.0 164.0(805 871 4¢DS-2 v2  -500 1.0 173.0|173 176 3NN-3 v6  -300 0.0 174.0
22 498 Basta kontrakt 23 4 D74 Basta kontrakt 24 4 EKn1085 Basta kontrakt
Ost vE74 5NT S =460 Syd v10 5NT V =-660 Vast vED6 4¢ VD -1100
ov ¢ E1043 Alla + K64 Ingen 2
#D952 & ¢ v & NT #E109642 & ¢ v & NT *K1094 & ¢ v & NT
»764 #1032 N 1010111111 4 K1085 & EKn9 N8 7 212 46 4732 N9 4596
v K53 v Kn98 S 1010101111 vK653 vEDKn982 S 8 6 2 1 2 v K75 v Kn1082 S94596
¢ Kn872 ¢ K65 023222 ¢ ES53 +1087 O5 6 11117 ¢ DKn8543 ¢ EK76 039746
#1063 #E874 V23222 *K3 *8 V56 111111 #EDKn *62 V39746
4 EKDKn5 4632 4 KD94
vD1062 v74 v 943
+D9 ¢ DKn92 +109
#KKn #DKn75 #8753
Par Kontr Ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
172 177 3NN+3 ¢8 490 170.0 4.0(477 403 6v V-3 «A 300 1740 0.0(879 801 44 N= ¢A 420 1740 0.0
205 275 3NN+3 v8 490 170.0 4.0(201 202 4v V-1 A 100 152.0 22.0(110 101 5¢DV-2 ¢2 300 161.0 13.0
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